UGC NET 2021 Home Science

Topic:- HomeSci_SET2_A

1) When was the POSHAN abhiyaan launched?
ol 3 w31 wa v wal ( POSHAN ) sifSriret @a yafefa gam ?
EASY NOTES 4U ONLINE STUDY

[Question ID = 1551][Question Description = S2_qSNz_PG_HMS_Q01]
1. March 8, 2018/8 airt , 2018

[Option ID = 6201]
2. January 26, 2018/26 Sierast , 2018

[Option ID = 6202]
3. May 1, 2018/1 &£, 2018

[Option ID = 6203]
4. April 30, 2018/30 afer, 2018

[Option ID = 6204]

2) What are Sequestrants?
Fafaforisia a=r 3 ?

[Question ID = 1552][Question Description = S2_qSNz_PG_HMS_Q02]
1. They are added to keep the food stable / 363 #iisior @1 RBeR X0l D fere ST Siier &

[Option ID = 6205]
2. Form a complex ion with metals like copper, iron etc. / ¥ dia1, cliar 3nfe emdaii @ el U Sifeel 3IRI6l BT fowIfur BT &

[Option ID = 6206]
3. Added for color / s6& 31 @ fere Siist i 3

[Option ID = 6207]
4. They keep the food oxidized / 3 sitstor @l slfaRftapd 3 &

[Option ID = 6208]

3) Vitamin D3is also known as:
farerfdror $i; Y 3 olrer A it SiTell SIIAT 32

[Question ID = 1553][Question Description = S2_qSNz_PG_HMS_Q03]
1. Retinol/3foifer

[Option ID = 6209]
2. Cholecalciferol/ofcrd e 3icr

[Option ID = 6210]
3. Tocopherol/cmib3ter

[Option ID = 6211]
4. Ergocalciferol/wsifdfezmb3ter

[Option ID = 6212]

4) When the food is directly given in the veins, it is called ?
Sid istol A1) oAl 3 e sirar 3, al 3 a1 Siidr 3 ?

[Question ID = 1554][Question Description = S2_qSNz_PG_HMS_Q04]
1. Parenteral nutrition/amar-foar ideft diwor

[Option ID = 6213]
2. Enteral nutrition/gders diwur

[Option ID = 6214]
3. Nasogastric nutrition/sIRir - Sio2 dwur

[Option ID = 6215]
4. Saline nutrition/arr diwur

[Option ID = 6216]

5) The time and temperature used for the pasteurisation of milk is:
geI @l Riaorol @ fére s b Sirel areln AerI iR drgdre 3:
[Question ID = 1555][Question Description = S2_qSNz_PG_HMS_QO05]


91956
EASY NOTES 4U ONLINE STUDY


1. 72° C/15min / 72° 3o / 15 Bric

[Option ID = 6217]
2. 72° C/15sec / 72° 3o / 15 3ds

[Option ID = 6218]
3. 72° C/30 min / 72° 30 / 30 e

[Option ID = 6219]
4. 72° C/30sec / 72° 3w / 30 Ids

[Option ID = 6220]

6) In order to pursue the research, which of the following is pre required?
ofter &Y forarar 3q , forafeRaa 3 A Rkl smasaasar gd 3 & 3rfl 3 ?

[Question ID = 1556][Question Description = S2_qSNz_PG_HMS_QO06]
1. Developing a research design/ua 9iler sifdidoeu fdaRia aon

[Option ID = 6221]
2. Formulating a research question/u® oler gsst @I foReuur ol

[Option ID = 6222]
3. Deciding about the data analysis procedure /g frasuur wrifafl & ar 3 foufr clon

[Option ID = 6223]
4. Formulating a research hypothesis/u® olter uf¥acuett o1 forsuur wen

[Option ID = 6224]

7) Any two immisicible liquid when mixed together form an :
SId oI o1 ifrouiir ga v e i feesma ar____ derar 3

[Question ID = 1557][Question Description = S2_qSNz_PG_HMS_QO07]
1. Aerosol/wRiile

[Option ID = 6225]
2. Emulsion/sdcior

[Option ID = 6226]
3. Gel/da

[Option ID = 6227]
4. Sol /3t

[Option ID = 6228]

8) Symptoms of thiamin deficiency are:
A. Peripheral neuropathy

B. Photophobia

C. Cardiomegaly

D. Koilonychia

E. Tachycardia

Choose the correct answer from the options given below:

Rrnfirer &bt ot @ agror 3:
A. afeefrr dfeyor-farpfer
B. ywromsiifer

C. v Y®R &I &6 A1 ( DifSAEEIch )
D. orza gt Ae1 ( Tarsclforform )

E. gaenst

il feu aru fareseal 3 2 A Ia= goi ¢

[Question ID = 1558][Question Description = S2_qSNz_PG_HMS_QO08]
1. A, Band D only/@aet A, B 3iiz D

[Option ID = 6229]
2. C,DandE only/aaa C, D iz E

[Option ID = 6230]
3. A, CandE only/aaet A, C sl E

[Option ID = 6231]
4. B, D and E only/dqect B, D 3iiz E

[Option ID = 6232]



9) Proteins present in milk are:
A. Lactalbumins

B. Lactoglobulins

C. Casein

D. Ovalbumin

E. Myosin

Choose the correct answer from the options given below:

g | suf¥erd gidiet 3 :

A. dacagfior

B. Aadwciigiirer

C. @fler

D. siracigfor

E. #rRNfRor

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 1559][Question Description = S2_qSNz_PG_HMS_QO09]
1. A, B and C only/daa A, B siiz C

[Option ID = 6233]
2. A, CandE only/@aer A, C iz E

[Option ID = 6234]
3. B, Cand D only/@aa B, C siiz D

[Option ID = 6235]
4. C,DandE only/@aa C, D sz E

[Option ID = 6236]

10) Identify the names of essential fatty acids:

A. Linoleic

B. Butyric

C. Linolenic

D. Myristic

E. Arachidonic

Choose the correct answer from the options given below:

SAAD TAT-31FcT D ol bl UsdIol Bb3:

A. Rrohfers
B. sgRRw

C. Rrohafrw

D. #éRRcaw

E. dafeSiftrs

A R s1e Rrsedt 3 A 78 s ot

[Question ID = 1560][Question Description = S2_qSNz_PG_HMS_Q10]
1. A, Cand D only/dact A, C 3liz D

[Option ID = 6237]
2. C,DandE only/aaa C, D iz E

[Option ID = 6238]
3. A, Cand E only/@act A, C 3z E

[Option ID = 6239]
4. B, D and E only/a@aet B, D 3z E

[Option ID = 6240]

11) Major symptoms of diabetes are :

A. Polyuria



B. Glossitis

C. Acidosis

D. Techycardia

E. Nocturia

Choose the correct answer from the options given below:
FEANE D YA cIgIvl 3:

A. sgggen

B. foraremrer

C. 3FcR™ar

D. Rgecaar

E. srepais

offa fou s1u fypeul 3 2 & 3a= goi ¢

[Question ID = 1561][Question Description = S2_qSNz_PG_HMS_Q11]
1. A, B and D only/dae A, B siiz D

[Option ID = 6241]
2. A,CandE only/@aa A, Csiz E

[Option ID = 6242]
3. A, BandE only/ddet A, B siz E

[Option ID = 6243]
4. A, Cand D only/daa A, C 3iiz D

[Option ID = 6244]

12) Match the food additives given in List | with their functions in List Il

List | List Il
Food additives Functions
A. Yeast I. Emulsifier
B. Soy lecithin Il. Antioxidant
C. Butylated hydroxyl toluene 1ll. Bleaching agent
D. Benzoyl peroxide IV. Preservative
E. Calcium sorbate V. Leavening

Choose the correct answer from the options given below:

Ieh -1 3 Rou g zarer RN @ It -1l 3 Ru s orf 3 gafera Hifsre :

et | et -

Rarer A=Arsi DRI

A. iR |. urRRIioR®

B. 3irm cifRifror Il. gfer sit=fiore
C. yersel srsgifaad dcyol . fedsia>

D. SiRIa RIaATES IV. ufszgrs

E. dfcorma Adc V. fdpuaot

off<l feu ore fpedl 3 A A8 3R gfore :

[Question ID = 1562][Question Description = S2_qSNz_PG_HMS_Q12]
1. A-ll,B-I,C-I,D-IV,E-V

[Option ID = 6245]
2. A-V,B-1,C-1Il,D-1IV,E-ll

[Option ID = 6246]
3. A-V,B-l,C-ll,D-ll,E-IV

[Option ID = 6247]
4. A-V,B-1,C-Il,D-1IV,E-Il

[Option ID = 6248]

13) Match biochemical tests in List | with nutritional deficiency disease in List Il

| List | List Il




Biochemical test Nutritional deficiency disease|
A. Serum albumin I. Vitamin A deficiency
B. Haemoglobin Il. Goitre
C. Urinary iodine lll. Kwashirkar
D. Serum retinol IV. Anaemia

Choose the correct answer from the options given below:

Il -1 3 Slaerirnfore usdisur ol ulvvrst dorar At b I -1l A Fafera Hifdre :

Rxeht -1 _reht -1

SliRIIRIfoIs usiegror OIevTST Slotel AST

A. Ma Yegfirer |. fererfdror § &t Eoter

B. Siaociifaor Il. srcre1vs

C. I RNSter Il. Q&er-Sloran (qarefiRi®iz)
D. 3fiear Mesifar IV. separ

offc feu sru frpedl 3 3 3 3R gforue :

[Question ID = 1563][Question Description = S2_qSNz_PG_HMS_Q13]
1. AIV-,B-1,C-lll,D-ll

[Option ID = 6249]
2. A-ll,B-1,C-Il,D-IV

[Option ID = 6250]
3. A-ll,B-lIl,C-IV,D-l

[Option ID = 6251]
4. A-lll,B-IV,C-Il,D-l

[Option ID = 6252]

14) Match vitamins given in List | with their functions in List Il

List | List Il
Vitamins Functions
A. Vitamin B12 I. Protection of PUFA from oxidative damage|
B. Vitamin A Il. Role in carbohydrate metabolism
C. Vitamin E lll. Role in formation of normal RBC
D. Thiamin IV. Integrity of epithelial tissues

Choose the correct answer from the options given below:

et -1 3 R a1e Rietfdroit @t 3t -1l 3 R o1 Sord il a rer YAk Bk :

L

A. frerfdror <t 12 . sticefipR® &ifer 31 Ul I b © @I T
B. fereifior © Il. @relerse sururn # yfdor

C. frerfdror $ Ill. FIm3IG=1 <iret 3°p @t &l el A YidrpT
D. Rrufdror IV. Suwent awml &I srdsar

off< feu oru fpedl 3 A 3 3R gfore :

[Question ID = 1564][Question Description = S2_qSNz_PG_HMS_Q14]
1. A-l,B-IV,C-ll,D-l

[Option ID = 6253]
2. A-ll,B-1,C-Il,D-IV

[Option ID = 6254]
3. A-ll,B-l,C-lll,D-IV

[Option ID = 6255]
4. A-lll,B-IV,C-l,D-I

[Option ID = 6256]

15) Arrange the stages of new food product development:

A. ldea generation



B. Product development
C. Screening

D. Commercialization.

E. Concept development

Choose the correct answer from the options given below

oIQ el 3culs fadrRT @ avll @ craf¥era «3:

A. faRicurca

B. 3curg famra

C. ool

D. waariteor

E. Jiocuen Rt

ofid fou o1 el 3 A 8t Sz gl ¢

[Question ID = 1565][Question Description = S2_qSNz_PG_HMS_Q15]
1. A,C,D, B, E

[Option ID = 6257]
2. A, C,B,D,E

[Option ID = 6258]
3. A,C,E,B,D

[Option ID = 6259]
4. A, B,E,C, D

[Option ID = 6260]

16) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Calcium requirements during lactation are higher than during pregnancy.
Reason R: As lactating women lose bone mass during breast feeding because less estrogen hormone is produced.

In light of the above statements, choose the correct answer from the options given below

il €1 erol fu aw 31 uep i sifdrperet (A) 3iiz g2 @t aa (R) @ar sk 3

sifdrperet (A) @ Fdaoturer i sraf?r i Dfeorer bt smragaesar siiazen &t sraf?r A siftre Xt

a® (R) : ©<ISIel smiol BT IcUIGH ool dlol @ DRI IdeIUlel Mol dicll ATSCII3il 3 Feolurel I @il 3 3¢ GoAdIel B 3l Sl &
SWRIT DUl d sirelie 3 foratifepa faaeul 3 A1 8 3= ol :

[Question ID = 1566][Question Description = S2_qSNz_PG_HMS_Q16]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) glail 31ét 2 3z (R), (A) &t 3& caren 2

[Option ID = 6261]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 38t 3 woq (R), (A) bt 3t Rz ofdt &

[Option ID = 6262]
3. Ais true but R is false/(A) 3@ 8 uzog (R) & o &

[Option ID = 6263]
4. Ais false but R is true/(A) 3@t oidt @ ussq (R) 3%t &

[Option ID = 6264]

17) By mistake you have over blued your clothes, which of the following reagents you would use to rectify the fault?

3ol 3[Uol PUSI UR 3Icicdl A SAIGI ofiel om 6 8, dl 3y foafciiRad 3 A b1 3if¥maias DI IURIIPT UGl 3Tkl Pl JERol D fere o1 ?

[Question ID = 1567][Question Description = S2_qSNz_PG_HMS_Q17]
1. Acetic acid/gftpas swer

[Option ID = 6265]
2. Borax/gspr

[Option ID = 6266]
3. Sodium chloride /3w aciRss



[Option ID = 6267]
4. Oxalic acid/sifsSifera vfdts

[Option ID = 6268]

18) Which of the following apparel production systems is based on teamwork and shared responsibility for quantity and
quality of output?

forgsiferRae 31 2 Plel a1 ulsenet Scurcet yumell dur-ori iz 3curce &I Ay iR IUIad! 3q A JAIRKG U= 3menfyd 3 ?

[Question ID = 1568][Question Description = S2_qSNz_PG_HMS_Q18]
1. Progressive bundle system/uypiferofter dleferat gomreft

[Option ID = 6269]
2. Unit production system/sr$ 3curgot Yot

[Option ID = 6270]
3. Modular production system/yardRI 3curcor yomeit

[Option ID = 6271]
4. Customized production system/saad-3mféia 3curge! Yurrelt

[Option ID = 6272]

19) Light fastness ratings are in the range of:
gI9I-gGdl @ g2-forerizur & 2fiam 3:

[Question ID = 1569][Question Description = S2_qSNz_PG_HMS_Q19]
1. 1-5

[Option ID = 6273]
2. 1-6

[Option ID = 6274]
3. 1-7

[Option ID = 6275]
4. 1-8

[Option ID = 6276]

20) Which of the following is a knit fabric that uses fine worsted yarns?

forgotferfiaa 3t A wlotr #A8IaT Sofl Ja B YRIIGT A oIl g3 BUST S ?

[Question ID = 1570][Question Description = S2_qSNz_PG_HMS_Q20]
1. Inlay/Ssa

[Option ID = 6277]
2. Zephyr/3mw2

[Option ID = 6278]
3. Intarsia/scerfofen

[Option ID = 6279]
4. Shaker/ o2

[Option ID = 6280]

21) For making a dress with kasuti embroidery, which of the following motifs will you use?

DA DGIE D AT U UIND dollol o fere, 3mu forarferRaa 3 A fpr1 rpfer @1 Suiler w3l ?

[Question ID = 1571][Question Description = S2_qSNz_PG_HMS_Q21]
1. Gopuram/shgza

[Option ID = 6281]
2. Tulsi Vrindavan/qgerft garaet

[Option ID = 6282]
3. Nandi/sict

[Option ID = 6283]
4. Chokla/<daen

[Option ID = 6284]

22) Reactive dyes form the following bonds with the fiber:

sif3ifpzmofier Is1as 391 & Arer forroiferRaa eI qoird 3.



[Question ID = 1572][Question Description = S2_qSNz_PG_HMS_Q22]
1. lonic/smiform

[Option ID = 6285]
2. Hydrogen/srssisior

[Option ID = 6286]
3. Van-der-waals forces/der-32-areat act

[Option ID = 6287]
4. Covalent/I@rRisID

[Option ID = 6288]

23) Which of the following is not an advantage of plasma technology?

forgaiferRaea 3 2 Dl Sitagea Gienf3rdhl a1 i o1dl 3 ?

[Question ID = 1573][Question Description = S2_qSNz_PG_HMS_Q23]
1. Increases abrasion resistance/smuedvr yfeRYer g &

[Option ID = 6289]
2. Increases dyeing speed/3so1-a1fel 4GIAI &

[Option ID = 6290]
3. Assists bio-scouring/da-aifémrslor 3 JsrRrar war &

[Option ID = 6291]
4. Gives liquid repellency/ga yferator gar &

[Option ID = 6292]

24) Shifting of darts from one place to other changes the:
A. Fit of the garment

B. Amount of dart control

C. Shape of the pattern

D. Design of the garment

Choose the correct answer from the options given below:

U FTel A G FATel UR YRIP DI FATGIiarvl uf¥afefa o 3 :
A. uf¥erret @1 fibe o

B. grIc foriqur &t airqr

C. ol DI PR

D. ufserer @1 siffrpcu

ofid fou a1 el 3 A A8t 3= ol ¢

[Question ID = 1574][Question Description = S2_qSNz_PG_HMS_Q24]
1. Aand B only/@act A siiz B

[Option ID = 6293]
2. Band Conly /dae B iz C

[Option ID = 6294]
3. Cand D only/aae C siiz D

[Option ID = 6295]
4. Aand D only/dae A sik D

[Option ID = 6296]

25) For making a dress for yourself in a plain-woven fabric, which of the following fabrics will you use?
A. Percale

B. Flannel

C. Burlap

D. Chino

E. Moleskin

Choose the correct answer from the options given below:

U ATS-Fol 3T W I 3Uol e v dion Holiol @ fe1u, 3y forFsiferRaa 3 31 fopa 391 I IuRlier B ?



A. wzda

B. weircia

C. =Ry (erc)

D. <fisit

E. srcaf¥ea

ofi fou o1 el 3 A A8t Sz gt ¢

[Question ID = 1575][Question Description = S2_qSNz_PG_HMS_Q25]
1. A, B, Conly/@act A, B, siiz C

[Option ID = 6297]
2. B,C,D only/aaet B , C, 3z D

[Option ID = 6298]
3. C,D,Eonly/@act C, D 3z E

[Option ID = 6299]
4. A, B, Donly/dacr A, B, aie D

[Option ID = 6300]

26) Which of the following factors favour fashion?
A. Advertising

B. Transportation and communication

C. Political Instability

D. Sumptuary laws

E. An economy of abundance

Choose the correct answer from the options given below:

forsciferRaa Rl 3 3 Blol YUraR o1 ust o 3 ?
A. fsmust

B. uf¥azer 3k R

C. Icmwiftrs sif¥erar

D. =rrAdo-faemet

E. agca srefcaazen

offa fou s1u fRyeseul 3 21 & 3= goi ¢

[Question ID = 1576][Question Description = S2_qSNz_PG_HMS_Q26]
1. A, B, Conly/daet A, B 3z C

[Option ID = 6301]
2. B, C, D only/daer B, C aie D

[Option ID = 6302]
3. C, D, Eonly/aae C, D siz E

[Option ID = 6303]
4. A, B, E only/dact A, B aiiz E

[Option ID = 6304]

27) Which of the following are examples of condensation polymer?
A. Acrylic

B. Modacrylic

C. Polyester

D. Nylon

Choose the correct answer from the options given below:
forgatferRaa 3f 3 Plet AT IHHolel TZCAD D ISIEVT & 7

A. dfgpfers

B. siisdfpfera

C, diferez



D. sirIciiol

il fou o1 freseul 3 31 & Fa= goi ¢

[Question ID = 1577][Question Description = S2_qSNz_PG_HMS_Q27]
1. A, B only/dact A 3iiz B

[Option ID = 6305]
2. B, C only/dae B sz C

[Option ID = 6306]
3. C, D only/aqer C 3iiz D

[Option ID = 6307]
4. A, D only/dact A iz D

[Option ID = 6308]

28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Overweight people look heavier in stiff fabrics.
Reason R: These fabrics stand away from the body creating an illusion of additional thickness.

In light of the above statements, choose the most appropriate answer from the options given below

il S werel Ru s1e 31w @t sifdrperet (A) 3iiR gIR @I ads (R) @ar sRI 3

sifdreperet (A) : 3if2rp astel arcl cleT &3 dust d arsl R &

ad (R) : A ous 9Bk A g3 wd 3 3rd: sifeilyd Jlerd &1 91 Yol D 3

IR el d 3ircle 3 foretifsa faweul 3 A A8 3a= gt -

[Question ID = 1578][Question Description = S2_qSNz_PG_HMS_Q28]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciail 3@t 3 32 (R), (A) &t 36 men 3

[Option ID = 6309]
2. Both A and R are incorrect/(A) siz (R) @il 3& & w3sq (R), (A) 6t 3d wme=n oidf 3

[Option ID = 6310]
3. Ais correct but R is not correct/(A) 3@ 8 woq (R) &t o8t &

[Option ID = 6311]
4. Ais not correct but R is correct/(A) & ot 3 uzog (R) 3 &

[Option ID = 6312]

29) Match the hip types given in List | with their description given in List Il

List | List Il

Figure Types Description

A. ldeal Type I. Curves diagonally outwards from waist to hip

B. Square shaped Il. Curves outward abruptly from waist and rounds sharply inwards
C. Heart Shaped lll. Curves outward gradually from waist and round over hip bone
D. Diamond Shaped |[IV. Curves outward abruptly from waist and falls straight to hips

Choose the correct answer from the options given below:

Il -1 31 Ru 31w @l @ yoor @ I -1l 9 fu s1e Iord frazvr A gdfera Hifsie :

et - et -

sirapfer @

UPR

A, atrcel |. ®oz A o ap fawvia: asz b 3z gsar 3

B. aof &t 1. 3R A 3ol arg: dt 3R Fsar & 3l dell A 3ic &Y 3
s et 3l SIrar 3

C. zca &t Ill. @&z A iR-eR a1E2 & 3R P5a1 3 R Bed Dl 333 D TR
Sﬂﬁ(ﬂ?l ollct 3Xer &

D. & & IV. @R A srreid ae i 3 3R M aeal ao Brar 3

offc feu aru frpedl 3 A 3 3R gfore :



[Question ID = 1579][Question Description = S2_qSNz_PG_HMS_Q29]

1. A-ll,B-IV,C-Il,D

[Option ID = 6313]
2. A-1,B-IV,C-Il,D-

[Option ID = 6314]
3. A-11,B-1I,C-1,D

[Option ID = 6315]
4. A-IV,B-l,C-Ill,D

[Option ID = 6316]

-Iv

30) Match the colour problems given in List | with their description given in List Il.

LIST | List Il
Colour problems Description
A. Frosting I. Weak areas in a fabric resulting from chemical damage
B. Tendering Il. Horizontal off shade band across fabric
C. Barre’ Ill. Same colour appears different under different light sources
D. Metamerism IV. Change of colour due to localized abrasive wear
V. Unintentional shade variation within a piece of fabric

Choose the correct answer from the options given below:

3l | 31 o 1w o1 bl Arz=msli ol Il - 31 Row s1w 3o1dd frarur @ aArer A FaAfera Hifsre :

et -1 et -1

Ror1 bl Ja=m  [fazor

A. Befiwzor |. srIrRIfore gifer @ ufdviErazsu ous 3 ole® &I

B. gefctor Il. Ja1Ta ous & &ifersr A1 Ut

C. aid lll. fafSreor yapr9r il B 3ige adl o1 3rcre1 fars Sanr 3

D. searaeaar |1V- TUGIRI UAH® UGl @ DIRUI 391 Bl ufddel

V. Pu3s D ud gbs D MR erfda 1 fieorar

oifY feu oru famedl 3 A 8 3R gforu :

[Question ID = 1580][Question Description = S2_qSNz_PG_HMS_Q30]
1. A-IV,B-1,C-1,D-1l

[Option ID = 6317]
2. A-1,B-V,C-1l,D-

[Option ID = 6318]

3. A-llLB-1I,C-1,D-V

[Option ID = 6319]
4. A-IV,B-1,C-1Il,D

[Option ID = 6320]

31) Give the correct sequence of cotton spinning system.

A. Drawing
B. Carding
C. Blending
D. Roving
E. Spinning
F. Picking

Choose the correct answer from the options given below

DURA DAlS YuIicll ®T A8 T S

A. et
B. Jigotot



C. wf3areur

D. smiicor

E. maré

F. 1ars2o1

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 1581][Question Description = S2_qSNz_PG_HMS_Q31]
1. A,B,D,EC, F

[Option ID = 6321]
2. C,A D, B,FE

[Option ID = 6322]
3. C,F,B,AD,E

[Option ID = 6323]
4. C,A,B,D,F,E

[Option ID = 6324]

32) Give the correct sequence of converting the waist dart of the bodice into two french darts.
. Trace the front bodice
. Locate the position and draw the lines for the number of French darts required

. Cut on the French dart lines

A

B

o

D. Close the waist dart
E. Shorten the darts and connect the end of the dart lines to the apex
F. Draw the line for the French dart

G. Distribute the dart control equally

Choose the correct answer from the options given below

@il B Par YrIe oI o BGIRRA grie 3 ufvafia oo o1 18 on S

A. A6 Bt Bt BT SGRTUT BI

B. Rrafer o1 uar oemu iR sagad BIRRI grie & e & o r wid
C. wif¥3=f grore 3 ur a1

D. @i & yrI® @l d§c B2 S

E. grIo! ol Bler 3 3k gRI® a1 @ 3id ¥ offd 31 siis

F. GiRRf grie & foru Y@ wfid

G. YRI® forRIquI Bl e U A fdafsa o2

il fou o1 fyeseul 3 31 & Fa= goi ¢

[Question ID = 1582][Question Description = S2_qSNz_PG_HMS_Q32]
1. A,B,D, E, G, C,F

[Option ID = 6325]
2. C,AD,B,F,G,E

[Option ID = 6326]
3. B,AD,EF,G,C

[Option ID = 6327]
4. A,F,B,E,C,D, G

[Option ID = 6328]

33) A comorbid means

GBI DI Acdcld Bl 3.

[Question ID = 1583][Question Description = S2_qSNz_PG_HMS_Q33]
1. adisorder or condition that may co-occur with another disorder or condition/uvd @R =i erfer Sit fipft sro=1 faR = Reifer @ mer 8t At &

[Option ID = 6329]
2. absence of diseases or medical conditions/3sii = Rifeprr bt Rerfer i sropuf¥erfer

[Option ID = 6330]
3. a cognitive impairment can shorten lifespan/vd Jismoiicad gifer Sfidetater Y BlcT B2 Add &



[Option ID = 6331]
4. a condition can appear independently and have a detrimental effect on performance/va Reifer Faddq u 3 yae 8t At 2 i ygolel w2 BIfordR® yaird stet

JFepedt 3
[Option ID = 6332]

34) A fifth-grade student with autism spectrum disorder (ASD) attends a general education class full time with support from
a special education teacher. Which of the following would be the most effective way for the Individualized Education
Program (IEP) team to integrate social skills training into the general academic curriculum for this student?

srcafaeie quiagt faer (v v 31 ) A sRda uradl e oI faendl ve fady drgn forgrm &I rerar 31 v guimlfcre ARG foren ogn 3
fepIet a1 & duaftpod 18 orRIH ( 30 § Ul ) ool 3q ARISID DI YIIISIUT Bl ARG ASIUID UIGRIRH 3 Thlad bl D e
forgarfeiRaa 31 A ASRI Yaurdl adier s B D 1w ®iol A1 dIon ?

[Question ID = 1584][Question Description = S2_qSNz_PG_HMS_Q34]
1. Incorporate individual counseling services into the student's IEP. /feeneff &t ( 38 € dt ) 3 cufepsra uroler Jare AfFafera w3

[Option ID = 6333]
2. Establish clear expectations for appropriate classroom behavior. /3fIia wei-®asR @ fére Juse e Fenfid w3

[Option ID = 6334]
3. Assign the student a one-on-one aide to model appropriate behavior. /3w =asR @t gfersia ool @ e femeff oI ve & o vr Jeeet bR o

[Option ID = 6335]
4. Include peer-to-peer supports in the general education class as part of the student's IEP. /freneff & ( 3ng $ tt ) & o1o1 D U 3 A9 181 as! I v Az

A G ABDHL DI ABRIAL DI AMBARTT DI
[Option ID = 6336]

35) Ethological theory of attachment was proposed by
ARIP @I AraRfdEI6-Rigia gzaifad s srm em:

[Question ID = 1585][Question Description = S2_qSNz_PG_HMS_Q35]
1. Jean Piaget/Stor fasmsr

[Option ID = 6337]
2. Pavlov/uraciia

[Option ID = 6338]
3. Erik Erikson/uf¥® uf¥ater

[Option ID = 6339]
4. Bowlby/dicdt

[Option ID = 6340]

36) A special education teacher is participating in a three-year reevaluation of a high school student with an intellectual
disability. As part of an assessment, the teacher accompanies the student to a store and asks the student to locate and
purchase an item. This is an example of which of the following types of assessments?

uep fadry fArgn g1 ves 3ca faenerr & difge for:orpar arcr faenelf & rer ier ATer & Yowfcaicvot 3 o°T 1 361 3 Pl B TP BT D
¥4 3, PI8IP B DI TP HUSR-3JE A ol SIIdI & 3R BIf DI b avq DI R-2Afer D1 udr ceIrel 3R G 0l D fere wear 8 As foraiferRaa 3 A

P31 YR @ HcAIDI DI TP IGIBI 3 ?

[Question ID = 1586][Question Description = S2_qSNz_PG_HMS_Q36]
1. Ecological/uf3erferas

[Option ID = 6341]
2. Portfolio/uquermot

[Option ID = 6342]
3. Authentic/siferggmforT

[Option ID = 6343]
4. Interview/3gicdrR

[Option ID = 6344]

37) One of the reasons for using drugs by the Adolescents is

fopoilRl g1 3iiver I IWRIPT Dol BI T BRUT 3.

[Question ID = 1587][Question Description = S2_qSNz_PG_HMS_Q37]
1. Pleasurable feelings/sicigoRIcn $idoms

[Option ID = 6345]
2. Thrill of doing something illegal/@s sider ot w1 Adtia



3

4

[Option ID = 6346]

. Parental Pressure/#rar-fdar o1 gara

[Option ID = 6347]

. Escape from everyday life/3for® Stiaot 31 uetrrer

[Option ID = 6348]

38) Compared to younger adults, middle aged adults who lose their jobs:

Pl RIFPI DI qetall A, ARMA AR dof D RIFD il Uil sllpdt S 3t

[Question ID = 1588][Question Description = S2_qSNz_PG_HMS_Q38]

1.

Tend to stay unemployed longer and have fewer opportunities for gratifying work as they age/siferd JeRI dd RISPIR ol D fere st 8 sifdeRa ald 3 iR
36T URT 39 d@ol D AT AT AGRCGRID DI D 18 &It 3[R Bl &

[Option ID = 6349]
. Tend to find jobs quickly because of their skills but find it difficult to stay employed. /3ol wloret & ®rRur offgerRn cll3t yra d2ol D fere Asst 8l 3ifdgga ald
&, Afdvol o1l oiladl 3 Jol 8ol DBfder oI &

[Option ID = 6350]
. Find it difficult to get new jobs, but once employed have a stable work history/sr siidf¥=Ii yia 26l Didel oKl 3, clfdbol B dR BRISIA dlol d dIG JoldT
31Ul U f3erz-arf oI iRt diar 3

[Option ID = 6351]
. Are less likely to become depressed , which makes it easier for them to obtain employment/adrer lot bl Jsiraott B Blel 3, PRRY Ioid fere ASPIR Yra Bl
3IRIGI 8l Sl &

[Option ID = 6352]

39) What is the focus of younger preschoolers and older preschoolers respectively when they indulge in play?

ofod gd-fencriie frenffat siiz gerer yd-faencrita fRenféfki & et o1 dg qparer: a=n 3idar 3 o d ¥ i fom 3 3 ?

1.

[Question ID = 1589][Question Description = S2_qSNz_PG_HMS_Q39]
1.

Shared activities; trust and shared interest/2msn &t s1$ siferfaférit; feart iz Arsm sfr

[Option ID = 6353]
. Trust and shared interest; Shared activities/uzeuz fdeart 3z 2msn w1 ; 2msn 6 o sifeifdferT

[Option ID = 6354]
. Parallel play; Solitary play /3w Xicl; vdlod ollcd

[Option ID = 6355]
. Communicative play; nonverbal play /3@ 2e; srenfegd oiicd

[Option ID = 6356]

40) One of the reading readiness skills is the development of comprehension that includes
A. Ability to arrange a picture story with events in the correct sequence

B. Ability to tell some personal experience

C. Ability to write his or her name

D. Ability to answer questions about a story which has been read and tell it in simple words
Choose the correct answer from the options given below:

UGoI-acUdl-dIolct A A U AT oI fawra 3 fSreadt afdaiea 3:

A. aconsii d A1 v Rigqaven & 8 a3 ralera ool &t grran

B. ©® caftpera siepa adrmel bl giarar

C. 3ruelr ot oot &bt grarar

D. 3=c1 oreci 3 U<l 3R IoIrfl oRil ved e uR smenf¥a gosil @ IR ol Dl grarer

oif<l feu are el 3 2 A3l = ol ¢

[Question ID = 1590][Question Description = S2_qSNz_PG_HMS_Q40]
A, B, Cand D only/@aa A, B, C ik D

[Option ID = 6357]

2. B, Cand D Only/@ae B, C 3z D

[Option ID = 6358]

3. A, B and D Only/dqct A, B siiz D

[Option ID = 6359]

4. B, Cand A Only/aaet B, C sik A



[Option ID = 6360]

41) Egocentric thoughts can involve

A. The lack of awareness that others see things from a different physical perspective

B. The inability to present their own perspectives to others

C. Failure to realize that others may hold thoughts, feelings, and points of view that differ from theirs.
D. Being intentionally selfish and inconsiderate

Choose the correct answer from the options given below:
s farl i afafa 3 awa 3

A. SIPRewdr &t waft 15 g v e silferas af¥gga A dist waa

B. orl @ o smual =i @ uf¥ga yeda ool &l srmarelar

C. 31gIHd Dol DI RGB! b 36 AP 91 Io1R1 3rerdl fARIRI, HIdolIsi 3R efScIvr Bl 33 ADd 3
D. storggrp: Farff sz sifead sten

ofid fou a1 el 3 A A8t 3= ot ¢

[Question ID = 1591][Question Description = S2_qSNz_PG_HMS_Q41]
1. Aand B only/@act A siiz B

[Option ID = 6361]
2. Aand C only/daer A siiz C

[Option ID = 6362]
3. Band C only/@aet B sz C

[Option ID = 6363]
4. B and D only/addct B sfiz D

[Option ID = 6364]

42) The major principles that govern growth are
A. Cephalocaudal Principle

B. Proximodistal Principle

C. Principle of Hierarchical Integration

D. Principle of the independence of systems

Choose the correct answer from the options given below:
Jgfs o forifa war arcl yga Rigia 3:

A. Jwcidsa Rigia

B. grisfEzca Rigia

C. 9guflag udlmzur o1 Rigia

D. gunferit &t Fadqar o1 RBigia

offa fou s1u fyeseul 3 21 & 3= goi ¢

[Question ID = 1592][Question Description = S2_qSNz_PG_HMS_Q42]
1. A, B, Cand D only/daa A, B, C siiz D

[Option ID = 6365]
2. A, B and C only/dsaet A, B, aiz C

[Option ID = 6366]
3. Aand B only/dact A iz B

[Option ID = 6367]
4. Cand D only/@aet C sfiz D

[Option ID = 6368]

43) Which type of speech is used in the example: Like other 2-year-olds, Arjun can say, “Ma bye, bye” and “ ball broken.”

Which type of speech is used in the example: When 9-month-old Radha’s mother talks to her, she uses short, simple
sentences, repetitive words, and higher pitches.



A. Holophrastic

B. Telegraphic

C. Interpretive

D. Infant-directed

Choose the correct answer from the options given below:

318201 3 1531 Yepr bl simer b1 YRSt b Sirer 3: 3161 St adf & acdl bl a6 , 3isfol s Add 3, "I aRI , arT " 3R gl s "

3IG1820T 3 b1 YR I (IeT I YRIIeT b=t Sirar 8: Sid 6l ol <l A€ Dl Al IR 91 D=¢il 3, dl a6 VI, AT dIasdl, ARIPCID 95 3R
I FATETA BT GBI Bkl 3

A. e Rcad

B. ar

C. I=RIIcAD

D. forgy - foréiora

oiil feu are faweal 3 A Al IR ol ©

[Question ID = 1593][Question Description = S2_qSNz_PG_HMS_Q43]
1. A and D Only/dbact A 3iiz D

[Option ID = 6369]
2. Aand C Only/daer A airz C

[Option ID = 6370]
3. Band C Only/a@ac B siiz C

[Option ID = 6371]
4. B and D Only/dact B siiz D

[Option ID = 6372]

44) Match List | with List Il

List-1 and List-ll contain Basic Virtue and Erikson’s Psychosocial stages respectively

List | List Il

(Basic Virtue) (Erikson’s Psychosocial stages)
A. Hope I. Autonomy vs. Shame

B. Will Il. Initiative vs. Guilt

C. Purpose lll. Trust vs. Mistrust

D. Competency IV. Identity vs. Role Confusion
E. Fidelity V. Industry vs. Inferiority

Choose the correct answer from the options given below:

et -1 B et -1l A e Hife

Ireit- | 3z Zrefi- 11 3 aaror: et 31v1 i uf¥esatel & FeliSID ot onfdrer &

et -1 Rxeht -1l

FcT 3101 ef¥etel @ HAGIRIAISID a1
A. strom |. Yarradar goma 9t

B. sco1 Il. usel dote 3raRIex

C. 359 Il. ferearT gotar sifeear

D. et IV. ugarst sottar yYfdaor ya
E. forsor V. Jeiel gotret Slotar

il fou o1 frseul 3 I A8 IR gfom ©

[Question ID = 1594][Question Description = S2_qSNz_PG_HMS_Q44]
1. A-1I,B-1,C-1l,D-V,E-IV

[Option ID = 6373]
2. A-1,B-1Il,C-1,D-V,E-1IV



[Option ID = 6374]
3. A-1,B-1,C-1I,D-IV,E-V

[Option ID = 6375]
4. A-UI,B-1Il,C-1,D-IV,E-V

[Option ID = 6376]

45) Match List | with List Il

List-l and List-1l contain the description of prenatal development and their labels respectively

List | List Il
(description of prenatal development) (labels)
A. This stage lasts from 8 weeks until birth and |. Embryonic

involves the differentiation of major organs

B. From 2 to 8 weeks following fertilization, when the |ll. Germinal
major organs and basic anatomy begin developing

C. The first and shortest stage, where the zygote Ill. Fetal
begins to divide and grow in complexity during the first
2 weeks following conception

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifsre :

-1 3iR Il -11 3 ALK StodA @ yd 1 @I faarvr 3iiR 3otl sifdeam diar &

It -l Rt -1l
STodt @ yd farpr o1 ferazur sifepas
A. I8 TRV IS G A SIod AP Bl 3 MR 33 YA 3iell b1 I, syofier
[froipeor aifdafera &
B. fordiror @ &I¢ <1 3 316 AAIE D, S YHHA 3001 31 gioRISt IRk I
bt Jron faRa dlot oo
c.msmm@am,mmmmammamm.m

B sraf?r 3 sifear su 3 fpnfora sz R e yrRy o 3

oiiI fSu aru famedl 3 A A8 IR gfore :

[Question ID = 1595][Question Description = S2_qSNz_PG_HMS_Q45]
1. A-1,B-1Il,C-1l

[Option ID = 6377]
2. A-lI,B-1,C-1l

[Option ID = 6378]
3. A-1L,B-1,C-1

[Option ID = 6379]
4. A-11,B-1I,C-1

[Option ID = 6380]

46) Arrange the four phases of Adult Development as given by Cohen in sequence
A. Encore

B. Liberation

C. Midlife Re-evaluation

D. Summing Up

Choose the correct answer from the options given below

PIReT GRI 13U 318 R fA®rT & ar arvil o1 uflag o3

A. got: got: ( @odR )
B. fgfes

C. Sfigorear yofcriavor
D. wgrur



off<l feu are el 3 2 A3l = ol ¢

[Question ID = 1596][Question Description = S2_qSNz_PG_HMS_Q46]
1. A,B,C,D

[Option ID = 6381]
2. B,D, A, C

[Option ID = 6382]
3. A,B,D,C

[Option ID = 6383]
4. C,B,D, A

[Option ID = 6384]
47) According to Lawrence Kohlberg's theory, the development of moral reasoning takes place in six stages. Arrange these
stages in sequence:

Universal Ethical principles

Authority and maintaining social order

A.
B.
C. Interpersonal Accord and Conformity
D. Social Contract

E. Self-interest

F. Obedience and Punishment

Choose the correct answer from the options given below

i3 Pplcrast @ Rigia @ oRIR, oifdre aifbaar oI iRt 8 Rl A SlaI 3 3o aRvil @I Yuilag Hifse :

A. ademue smarendfRr RBrgia

B. sif2rp1R 3iiz ARG RIazelr Pl J6lIe 3ol
C. urvuf¥® AIEIA 3R seReUAr

D. i siggeer

E. snqafda

F. si=sopifedr sz <5

ofil R s1e Rieedl 3 A 21 a2 9ot

[Question ID = 1597][Question Description = S2_qSNz_PG_HMS_Q47]
1. A,B,C,D,E, F

[Option ID = 6385]
2. B,D,A,F,EC

[Option ID = 6386]
3. F,EC,B,D,A

[Option ID = 6387]
4. C,B,D,EF,A

[Option ID = 6388]

48) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Communication serves to construct as well as reflect family relationships.

Reason R: Family member spend so much time with each other, they use and understand communication shortcuts and
idiosyncrasies that may elude an outsider.

In light of the above statements, choose the correct answer from the options given below
il Q1 ool fu aw 31 uep @ sifdrperet (A) 3iiz g2 @t aw (R) @1 sk 3

sifdrpee (A) : Jar foriivr o Jrer-are uiRari¥e Hdell ®I gfefdfa del ®If ®RI o &

a® (R) : ul¥arR @ A6 TB-gIR} D ATA Fdoll J I 3, d IAR D IYPTHA ABT 3iI? AdGoI-ATICTH DI IURIIPI BT & 3R Sll Ub d183d AP
@I AR A BT ADA 3

IWRTh Dl B 3irciies A forotifepa faraedl 3 A A8 Ia= ol ¢

[Question ID = 1598][Question Description = S2_qSNz_PG_HMS_Q48]
1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) Qail 3 3 3liz (R), (A) &t 3 wmzen 8



[Option ID = 6389]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) g6l 2t & weeg (R), (A) 6l et == oiet 8

[Option ID = 6390]
3. Ais true but R is false/(A) 3@t 8 wog (R) @t o8l &

[Option ID = 6391]
4. Ais false but R is true/(A) 3@ oidf 3 woqg (R) 38 &

[Option ID = 6392]

49) Muster rolls are prepared under the programme-
siractl 1 erRiay & dea duR fipe s 3 ?

[Question ID = 1599][Question Description = S2_qSNz_PG_HMS_Q49]
1. SGSY/w St vt arg

[Option ID = 6393]
2. MDM/wr <t wr

[Option ID = 6394]
3. NHM/uol va va

[Option ID = 6395]
4. MGNREGA /i

[Option ID = 6396]

50) Which one of the following is not a component of the services offered under ICDS?
forgotferRae 3 3 diot A1 31 2l 3t v B dsa ygrol &t Siral arctt Aarsii o1 b Ted 18l 3 ?

[Question ID = 1600][Question Description = S2_qSNz_PG_HMS_Q50]
1. Immunization/yferzgmor

[Option ID = 6397]
2. Referral Services/3Iwywur Jdm

[Option ID = 6398]
3. Formal Education/siiuaif¥e forgm

[Option ID = 6399]
4. Supplementary Nutrition/smeye® dluur

[Option ID = 6400]

51) Licence to operate Community Radio stations is granted by-

ARIGIRI® I Fe9reil DY Hanferd w2l B fRIe IS Ygrer &l et 3-

[Question ID = 1601][Question Description = S2_qSNz_PG_HMS_Q51]
1. State Governments/3seI IRBRI GRI

[Option ID = 6401]
2. Ministry of information and Broadcasting/3dei 3z GRIRUI FiqIeRI gRI

[Option ID = 6402]
3. Prasar Bharti Corporation/yzire sicit fopmr grr

[Option ID = 6403]
4. Department of Telecommunications/giar fsier grt

[Option ID = 6404]

52) International Literacy day is celebrated on -

IARRISERT ATGRAT &1 Holrl it 3 -

[Question ID = 1602][Question Description = S2_qSNz_PG_HMS_Q52]
1. 8th March/8 st

[Option ID = 6405]
2. 8th May/8 s

[Option ID = 6406]
3. 8th September/8 Bidaz

[Option ID = 6407]
4. 8th November/8 srdaz

[Option ID = 6408]

53) PCPNDT Act was enacted to prevent
ol 2t di gor St & siferforIar B Aol B ferg sifeiforifra fop=m s em:



[Question ID = 1603][Question Description = S2_qSNz_PG_HMS_Q53]
1. Child Labour /et gpt

[Option ID = 6409]
2. Sex Selective Abortions/fefsr -cRIeicdD sT8furT

[Option ID = 6410]
3. Domestic Violence/a¥e B

[Option ID = 6411]
4. Dowry/csst

[Option ID = 6412]

54) The process of assessing the progress of a project based on pre-determined indicators of the programme is called-
DRIGH D gd forerifea Adaml U= snenfeda uiRirstelr & YaIfel Bl Il B0l B Yad DI Dol SIdl -

[Question ID = 1604][Question Description = S2_qSNz_PG_HMS_Q54]

1. Feedback/yfegfte [Option ID = 6413]

2. Feed Forward/smepRiuf¥a gfte [Option ID = 6414]

3. Monitoring/sfeydtemr [Option ID = 6415]

4. Planning/=isten [Option ID = 6416]

55) Which of the following features can be studied through 'Mapping' while conducting PLAs?

dl 9T © bl JHdiciol B HI | ALGIRIGUI ' & Hred A forsoifcilRaa fafdrseansii 3 A b @1 3iezrIel b s JAar 8 ?

[Question ID = 1605][Question Description = S2_qSNz_PG_HMS_Q55]
1. Natural Resources/yrafere et

[Option ID = 6417]
2. Priority Patterns/yrerfdiar yfersa

[Option ID = 6418]
3. Conflict Resolutions/ et forRrcify

[Option ID = 6419]
4. Problem Solving/ @ J@emst

[Option ID = 6420]

56) Common elements between BCC and Advocacy are -
A. Both rely on persuasion techniques

B. Both seek to bring in behaviour change

C. Both need stretegic planning

D. Both use only intrapersonal communication

E. Both can work only with people at the grassroots
Choose the correct answer from the options given below:

& 2 2t siiz ugr-rerelar & i ArAGa aca $ -

A. 3ol yearrer gfafer ur fepars oid 3

B. 36l =rasrR uf¥acier cror I et B

C. Sloll 1 Brichfer-Asion &t smragAddar &

D. Sioil dac siadAftpd AR BT GRIPT DAY 3

E. <roil dact uigget cAlRDRAL d> AT DIA B2 AD &
il fou s1e fraseul 9 3 & Ia= goi ¢

[Question ID = 1606][Question Description = S2_qSNz_PG_HMS_Q56]
1. B, Cand E only/@act B, C 3l E

[Option ID = 6421]
2. A, Band C only/dact A, B iz C

[Option ID = 6422]
3. C,DandE only/aaea C, D si E

[Option ID = 6423]
4. A, Cand E only/daa A, C aiz E

[Option ID = 6424]

57) Which of the following can be used for outdoor publicity?



A. Flash Cards

B. Bill Boards

C. Kiosks

D. Banners

E. Flip Charts

Choose the correct answer from the options given below:

forgsiferfRae 3 3 Blol AT 1@ garR @ ferg gRIeT o= s Awdan 3-

A. w9 o8

B. fasmaer ug

C. it

D. gget

E. forcaa aré

o R a1 Ripedl 3 A w18 I gat

[Question ID = 1607][Question Description = S2_qSNz_PG_HMS_Q57]
1. A, B and C only/dae A, B siiz C

[Option ID = 6425]
2. B, Cand D only/a@ae B, C sz D

[Option ID = 6426]
3. C,DandE only/dae C, D ik E

[Option ID = 6427]
4. A, Cand E only/d@aa A, C 3z E

[Option ID = 6428]

58) The communication process is always-

A. Systematic

B. Transactional

C. Universal

D. Functional

E. Interactional

Choose the correct answer from the options given below:

Jar gfepn saen idl 3 -

A. goraf¥ea
B. Jicaasify®
C. ardilfirs
D. ymriic®m
E. siafsgrcas
ofid fou a1 el 3 A A8t STz gl ¢

[Question ID = 1608][Question Description = S2_qSNz_PG_HMS_Q58]
1. A, Band C only/d@ae A, B siiz C

[Option ID = 6429]
2. A, Cand D only/aae A, C 3iiz D

[Option ID = 6430]
3. B,Cand D only/@ae B, C iz D

[Option ID = 6431]
4. A, Cand E only/d@aa A, C 3z E

[Option ID = 6432]

59) The major functions of KVKs in Extension are-
A. Organizing vocational training for rural youth

B. Organizing training for farmers



C. Providing loans to farmers

D. Providing labour for farming activities

E. Conducting research for new farming technologies
Choose the correct answer from the options given below:

acadf i D @ D D ygRa orf I-

A. 3qEhiur Jansii & fore =maniies yfdremr ot RS
B. fepameil o fere yfdretvr o siRilstor

C. 16l Bl >BUT 3ucTet] M6l

D. ¥t @& ol @ e 9p1 Ygra Bl

E. aF ¢t gienBifeseal @ fere sropienst o1 FHarcro
il 3w o1 et 3 A 7E 3= goi ¢

[Question ID = 1609][Question Description = S2_qSNz_PG_HMS_Q59]
1. A, Band C only/@aet A, B 3z C

[Option ID = 6433]
2. A, B and D only/@aet A, B siiz D

[Option ID = 6434]
3. A,BandE only/@act A, B3R E

[Option ID = 6435]
4. B, C and D only/daa B, C 3iiz D

[Option ID = 6436]

60) Match List | with List Il

List | List Il

Theories of Mass Communication Characteristic features of theories

A. Authoritarian Theory I. Media assist in the growth of society|
B. Liberatarian Theory Il. Media are responsible

C. Social Responsibility Theory [lll. Media are free

D. Development media Theory [IV. Media are controlled

V. Media are agents of government

Choose the correct answer from the options given below:

el -1 @ 3 -1l 31 Jafera bifSie

et - | et -1
SoriarR & Brgia Rigidl &1 Rifdre Rgraany
A. Irmac RBigia |. JEra A s D or 3 JerRIan ol 8
B. Xaeordqard Rigia Il. Jaa M3 saerl 3
C. SRS Sk 1. srarzer AMfEen vadq 3
D. frora afifden Brgia ||V, e AR Rrif 3

V. Jera A eor D siftrpat 3

oif<l fSu are fawedl 3 A A8 3R gfore :

[Question ID = 1610][Question Description = S2_qSNz_PG_HMS_Q60]
1. A-1l,B-1I,C-IV,D-V

[Option ID = 6437]
2. A-ll,B-1,C-IV,D-V

[Option ID = 6438]
3. A-IV,B-1II,C-II,D-1

[Option ID = 6439]
4. A-V,B-1ll,C-1l,D-1

[Option ID = 6440]

61) Match List | with List Il

IList | LList I




IAdopter categories [Estimated distribution in population
A. Innovators . 13.5%
B. Early Adopters |Il. 2.5%
C. Early Majority [lll. 16%
D. Laggards V. 34%
V. 44%

Choose the correct answer from the options given below:

et -l oot 3Eh -1l A Fgafera HifSie :

Rret -1 Rreh -1l
GADNIEl  Fiaet SIorize 3 3repferd faraeur
A. sragace . 13.5%
B. 3irer camodt Il. 2.5%
C. gRi%® o . 16%
D. unfRra s IV. 34%
V. 44%

ofiax 3w o1 el 3 A At I gfom ©

[Question ID = 1611][Question Description = S2_qSNz_PG_HMS_Q61]
1. A-I,B-IV,C-V,D-1

[Option ID = 6441]
2. A-1,B-1,C-1V,D-1l

[Option ID = 6442]
3. A-NL,B-1,C-1I,D-V

[Option ID = 6443]
4. A-1I,B-1V,C-1I,D-V

[Option ID = 6444]

62) Arrange the following terms in the increasing order of complexity as per the Bloom's Taxonomy of Objectives
A. Creating

B. Applying

C. Understanding

D. Evaluating

E. Analysing

Choose the correct answer from the options given below

forgsiferRaa ugl @1 329Ul @ scigr-aeiivI-fdsiiol @ SIoAR SIfieerdr @ d6d oA 3 RIai¥erd o3t

A. ¥Toll Bl

B. oy @

C. wasen

D. gcaiwol woll

E. frecyur owvon

ofid fou a1 el 3 A A8t STz gt ¢

[Question ID = 1612][Question Description = S2_qSNz_PG_HMS_Q62]

1. A,C,D,E, B

[Option ID = 6445]
2. B,D,E, A C

[Option ID = 6446]
3. C,B,E, D, A

[Option ID = 6447]
4. D,E B,C, A

[Option ID = 6448]

63) Arrange the steps of Programme planninmg in a sequential order

A. ldentify the Problem



B. Analyse Situation

C. Collection of facts

D. Develop a plan of work

E. Decide on the objectives

Choose the correct answer from the options given below

PRI AlSlell @ vl Bl efniie Juft I =af¥ea o3 :

A. =1 &I usde

B. uf¥f¥efer o1 faecsuor

C. aeal @1 FHsLEur

D. &Rl &l v Alston k@ o3

E. 329dl uz forofer o

il 3w a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 1613][Question Description = S2_qSNz_PG_HMS_Q63]
1. A,B,C,D, E

[Option ID = 6449]
2. B,C,D,E, A

[Option ID = 6450]
3. C,B,AED

[Option ID = 6451]
4. D,B,C, A E

[Option ID = 6452]

64) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Strategy for behaviour change must include providing communication that might trigger individuals to make
decisions.

Reason R: Internal and external factors may serve as cues to action.
In light of the above statements, choose the most appropriate answer from the options given below

il €1 perol fu aw 31 ues @ sifdrveret (A) 3iiz g2 @t aa (R) @ar sk 3

sifdrpee (A) : ®rasR ufadel 3q DRIl 3 JAR Yol DI a9 AfHATCIA Bloll aIfdu SiI Raftpeil oI forvf ool & fore forar figameficr &=
ADr 3
as (R) : Jiafe® 3R 9IdI DR® PRAE D ADd D U A PIHA D2 ADI &

IWRTh Dl B 3rciled A forotifepa faraeal 3 2 A8 Ia= ol ¢
[Question ID = 1614][Question Description = S2_qSNz_PG_HMS_Q64]
1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) gail 38t 3 3iiz (R), (A) &t 3 cmeen 3

[Option ID = 6453]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) clail 38 3 woq (R), (A) bl &t Rz ot &

[Option ID = 6454]
3. Ais correct but R is not correct/(A) 3@ 8 u3sq (R) &t o1dt &

[Option ID = 6455]
4. Ais not correct but R is correct/(A) 3@ st 8 weog (R) 3t &

[Option ID = 6456]

65) Which one of the following is NOT the characteristic of scientific research?

forgotferi¥aa 3 A Dol AT dsIfor® 3rofienrel oI fadrudr orél 8 ?

[Question ID = 1615][Question Description = S2_qSNz_PG_HMS_Q65]
1. Precision/uf¥g[gar

[Option ID = 6457]
2. Objectivity/axqforsear

[Option ID = 6458]
3. Systematisation/Jmaieraur

[Option ID = 6459]



4. Speculation/sioerol #Ic]
[Option ID = 6460]

66) Identify the pure research problem from the following.

forgsifer3aea 31 A fAgLg oller AR D Usdlol:

[Question ID = 1616][Question Description = S2_qSNz_PG_HMS_Q66]
1. Vocational interests of adolescent girls/fepolf¥=il & caraznfes &a

[Option ID = 6461]
2. Role of ICT’s in empowering rural women/syefivr sifgeiisil & Aeifepap2vr 3t oS i & bt effarpt

[Option ID = 6462]
3. Estimating time and energy consumption in use of solar cooker/3iz @2 @ YRilsT 3 JWRI 31 Ieif D IMEI BT 3Mbelol

[Option ID = 6463]
4. Entrepreneurial activities of rural woman/syeflor #fden i 3epitr siferfaferRi

[Option ID = 6464]

67) The crucial weakness encountered in laboratory experiment is

QRIBIINCH 3 GRIPT 2ol @ AIRT 3 Aol bt o1 forilas wasid 3:

[Question ID = 1617][Question Description = S2_qSNz_PG_HMS_Q67]
1. Control/feriqur

[Option ID = 6465]
2. Manipulation/uf¥arctor

[Option ID = 6466]
3. Accuracy/3dwan

[Option ID = 6467]
4. Time/3wrr

[Option ID = 6468]

68) The parametric tests are used when -
grafer uigvil ol SRl ad e sirar 3 S| -

[Question ID = 1618][Question Description = S2_qSNz_PG_HMS_Q68]
1. Variables are qualitative /a2 s 8t

[Option ID = 6469]
2. Distribution is normal/f=ur memeer &t

[Option ID = 6470]
3. Data is skewed/ga fawar &

[Option ID = 6471]
4. Observations are independent/Ygtur ¥adq ai

[Option ID = 6472]

69) Which data collection tool is appropriate for the study of job satisfaction of KVK professionals ?
‘D dl D' caraARIDI Bl siladt b Adfte Uz s1ERIeT D 18 Blol AT G oG IUDVI IURYTD 3 ?

[Question ID = 1619][Question Description = S2_qSNz_PG_HMS_Q69]
1. Interview/JgicmR

[Option ID = 6473]
2. Aptitude Test/sifStemrar uwtgmor

[Option ID = 6474]
3. Questionnaire/gofeiractt

[Option ID = 6475]
4. Interest inventories/aifdrfr Jdt

[Option ID = 6476]

70) The advantages of using probability sampling are
A. Perfect control on extraneous variables

B. Convenient when sample is very small

C. Absense of sampling biasness

D. Lesser degree of judgement



E. Faster and cost effective
Choose the correct answer from the options given below:

Jsiraetr yfercef @1 RieT @0t T U el 3:

A. ar@E i w2 I8e oriqur

B. If¥ensiere M yfercof aga sier 3

C. yfeceler galspg &I siogpulR-arfer

D. forofa &t oot 9Juft

E. digar siiz uf¥err gerrdt

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 1620][Question Description = S2_qSNz_PG_HMS_Q70]
1. A, Cand D only/@ae A, C sfie D

[Option ID = 6477]
2. B, Dand E only/@aet B, D sik E

[Option ID = 6478]
3. A,DandE only/@act A, D siz E

[Option ID = 6479]
4. C, D and E only/daet C, D aie E

[Option ID = 6480]

71) Match List | with List I

List | List Il
\Variables Characteristics
A. Experimental |l. Cannot be altered by researcher
B. Organismic Il. Uncontrolled but have significant effect on dependent variable)
C. Assigned Ill. Manipulated
D. Dependent IV. Measurable, can’t be manipulated
V. Is the presumed cause of dependent variable

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSte :

- = -1l
@ IO
A. grifdis ||, oftermdl GRI oIl JGell ST ADAT 3
B. s [Il. sifSrifefa cifdpor snfdfa = uz siacayvt gura usar 3

C. spaftfa  |lll. screifora

D. sofdfa V. uf¥drr , uf¥aferd ol fosen s Awar &

V. 3nidd <= @I 3fofdIfold BRUI 3

ofid fSu sru fpeal 3 21 Al IR gfem ¢

[Question ID = 1621][Question Description = S2_qSNz_PG_HMS_Q71]
1. A-1,B-1,C-1v,D-1l

[Option ID = 6481]
2. A-IV,B-V,C-1ll,D-1

[Option ID = 6482]
3. A-V,B-1ll,C-1,D-1V

[Option ID = 6483]
4. A-ULB-1,C-1V,D-V

[Option ID = 6484]

72) The sequential steps of constructing Thurstone Equal Appearing Interval attitude scale are -
A. Collection and Editing of items

B. Calculating Scale and Q values

C. Finalization of items

D. Sorting items on different continuum

E. Administration

Choose the correct answer from the options given below



‘e3éal sadcl IURITEI Socac SifgiI Aell @ forivT @ 3oImidd TRYI 3 -
A. azqgii @1 s)E 3R AurceT

B. Frueil 3iiz o=y ImGil I sTvTeT

C. axqsil @ siferer wu Jomr

D. fafifeor ATaea R a¥g Ferd

E. gomiel

offcl feu aru fareal 3 2 A3l 3= ol ¢

[Question ID = 1622][Question Description = S2_qSNz_PG_HMS_Q72]
1. A,C,D, E

[Option ID = 6485]
2. A,D,B,C

[Option ID = 6486]
3. C,AD,B

[Option ID = 6487]
4. D,B,C, E

[Option ID = 6488]

73) What is the correct sequence of statistical analysis of data?
A. Gathering

B. Analysing

C. Organizing

D. Interpreting

Choose the correct answer from the options given below

ipst @ AiRIbrR frauvT @1 8t igyadt = 37

A. 3ispEUT
B. frecywur
C. RIS
D. =z
i) feu sru fareseal 3 A A Ia= gol ¢

[Question ID = 1623][Question Description = S2_qSNz_PG_HMS_Q73]
1. B,A, C,D

[Option ID = 6489]
2. A,C,B,D

[Option ID = 6490]
3. A,B,D,C

[Option ID = 6491]
4. C, A B,D

[Option ID = 6492]

74) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Statistics is the servant (not master) of logic rather than an end of research.
Reason R: Careful collection and logical analysis of data contributes more to the search of truth than statistics.

In light of the above statements, choose the correct answer from the options given below

oii<l S Dol e ae 3 : wop I sifere (A) 3iik g @I aw (R) a1 sk 3

sifdrperst (A) : ARcADT , oner @ sifera uf¥vifer & SSIRI ao @I r ( Fartl oiél ) 3

ads (R) : oa @I Aaereligde e iz aifde faeesuur Aificrd! & derelr 3 Jears &I st 3 sif2re APIee a1 3
SRt il @ sirclld I forFotifcod fameul 3 A I8l I= Yo :

[Question ID = 1624][Question Description = S2_qSNz_PG_HMS_Q74]
1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 2@t 2 3l (R), (A) &t A& careen &



[Option ID = 6493]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) g6l 2@t & weeg (R), (A) 6l At == oiet 8

[Option ID = 6494]
3. Ais true but R is false/(A) 3@t 8 wog (R) &t o8l &

[Option ID = 6495]
4. Ais false but R is true/(A) 3@ oidf 3 woqg (R) 38 &

[Option ID = 6496]

75) Per minute calorie consumption for moderate activities is

Jrezpat oifeifaRRIl @ fere gfer frete delldl w1 SusieT 3t

[Question ID = 1625][Question Description = S2_qSNz_PG_HMS_Q75]
1. 1.4-2.0 calories/1.4-2.0 dcist

[Option ID = 6497]

2. 1.5-2.5 calories/1.5-2.5 dcist
[Option ID = 6498]

3. 2.0-3.5 calories/2.0-3.5 dcii3t

[Option ID = 6499]
4. 3.0-4.5 calories/3.0-4.5 dcist

[Option ID = 6500]

76) What type of adaptation it is where humans exhibit the capacity of being moulded?
15 3T YR I 3Ieldactol 8 ST6l dAlord i i @Il Sliol I grrar ygfdfa ma & ?

[Question ID = 1626][Question Description = S2_qSNz_PG_HMS_Q76]
. Genetic/smgifera [Option ID = 6501]

. Plasticity/Jacaar [Option ID = 6502]

. Acclamatization/zmifdiger [Option ID = 6503]

. Behavioural adaptation/=rqsR sigjactel [Option ID = 6504]

A WN -

77) Quarternary Purple is
aqed ollcreilida (qardzors uda) 3:

[Question ID = 1627][Question Description = S2_qSNz_PG_HMS_Q77]
1. 3B+3Y+2R

[Option ID = 6505]
2. 2R+2B+2Y

[Option ID = 6506]
3. 3Y+3R+2B

[Option ID = 6507]
4. 3R+3B+2Y

[Option ID = 6508]

78) The general guidelines of work height for the task where there is frequent use of eyes and infrequent use of hands
are:

DRID 3 PRIUTD Hars 518l il I Add YAel Bl 3 iz arell @I fazer giler gidar 3 d Arare fSen-forgor 3 :

[Question ID = 1628][Question Description = S2_qSNz_PG_HMS_Q78]
1. 2-8 cms below eye level/srixdl @ Faz 3 2-8 Juft offa

[Option ID = 6509]
2. 3-10 cms below eye level/siizdl @ a2 3 3-10 3wf o

[Option ID = 6510]
3. 5-10 cms below eye level/siixdl @ Faz 3 5-10 wf ofid

[Option ID = 6511]
4. 8-12 cms below eye level/siixl @ a2 3 8-12 wft ofia

[Option ID = 6512]

79) The group of commodities listed in the essential commodities act is
MMa9AD axq feforra d ey aq3il oI WE 8:

[Question ID = 1629][Question Description = S2_qSNz_PG_HMS_Q79]
1. Iron, steel, petroleum, Aluminum/dliel, sumd, UQIferM, vegliformr

[Option ID = 6513]



2. Coal, steel, cotton, Steel, plastic/@RIcT, 23U, PURI, $3UKM, TIRcd

[Option ID = 6514]
3. Paper, drugs, brass, steel/@prs, siwer, dider, s3ud

[Option ID = 6515]
4. Coal, cotton textile, Iron, petroleum products/dRIct, Ut axdq, clial, UQCRE 3curg

[Option ID = 6516]

80) Which colour combinations are used in achromatic colour schemes?
3rauias 391 Alstoll A foba 38T IRMSIel BT $3dAICT fobam Sirer 3 ?

[Question ID = 1630][Question Description = S2_qSNz_PG_HMS_Q80]
. Value variation of neutral colours/3crfler 3sif @1 d#c=1 Furea= [Option ID = 6517]

. Secondry colours/siis 1 [Option ID = 6518]

. Primary colours/gerfdras 3st [Option ID = 6519]

. Opposite colours/fdudia 31 [Option ID = 6520]

A W N -

81) Project size is decided by
uf¥AsTell &I PR fBAD GRI =1 fopar sirdr 3 ?

[Question ID = 1631][Question Description = S2_qSNz_PG_HMS_Q81]
Government/3r®rR [Option ID = 6521]

Financial institutions/ferfzr 3izem [Option ID = 6522]

Project formulation team/uf3iision foreuur aet [Option ID = 6523]

Project engineer/uf¥sion aifdricar [Option ID = 6524]

A WN -

82) Identify from the list the values of working environment:
A. Punctuality

B. Creativity

C. Variety in work

D. Economic reward

E. Flexibility

Choose the correct answer from the options given below:

PRI-ardraRur @ gl bl yoa-xel A usare @3 :

A. 3r1-forssar

B. Yeicamar

C. ori 3 fafaerar
D. suféfes urf¥difties
E. orarar

oifY feu aru fareal 3 A Al Ia= gol ¢

[Question ID = 1632][Question Description = S2_qSNz_PG_HMS_Q82]
1. A, B, C only/dacr A, B 3iiz C

[Option ID = 6525]
2. B, D, Eonly/®aa B, D sz E

[Option ID = 6526]
3. B, C, D only/dder B, C aie D

[Option ID = 6527]
4. A, C, Eonly/dac A, C 3iz E

[Option ID = 6528]

83) The expected standards of a consumer education material are
A. Accuracy

B. Completeness

C. Commercial

D. Objectivity

E. Discriminatory

Choose the correct answer from the options given below:

SusilepT {18 ABEH & A3 Ao 3:



A. I8 mar

B. guiar
C. aiftiisas
D. a¥qforsoar

E. ugraraguf
il fou s1e fyaseul 9 A W& 3= goi ¢

[Question ID = 1633][Question Description = S2_qSNz_PG_HMS_Q83]
1. A, C, Donly/aact A, C siz D

[Option ID = 6529]
2. A, B, D only/d>act A, B 3iiz D

[Option ID = 6530]
3. A, D, E only/daa A, D i E

[Option ID = 6531]
4. B, D, E only/dder B, D aie E

[Option ID = 6532]

84) From the list given below which are the indicators of static work
A. Increased muscle blood flow

B. Sustained muscle contraction

C. Increased muscle oxygen consumption

D. Oxygen independent energy production

E. Glycogen and blood sugar is used to produce energy

Choose the correct answer from the options given below:

ofid &t o1 It A FAferd BRI D FADAD Blot 3 ?

A. #AiRafdRI @1 JAdaftfa 7 yas

B. #tizrfdrl 3f sifiReoor siasdor

C. AR 3 sifafisror a5 susier 3 zghy

D. sifa=fisior gop Heif Ieurcer

E. sciisoisiol 37 3tb 1A dI YRIIPT Hell Icurcol @ fere s simar 3

offcl feu sru farpedl 3 21 A8l = goi ¢

[Question ID = 1634][Question Description = S2_qSNz_PG_HMS_Q84]
1. A, B and C only/@aa A, B siiz C

[Option ID = 6533]
2. B, Cand Eonly/@ae1 B, C sl E

[Option ID = 6534]
3. B, D and E only/daer B, D 3iiz E

[Option ID = 6535]
4. A, Band D only/dae A, B aie D

[Option ID = 6536]

85) From the styles given below which of the following styles are part of Late Georgian Style
A. Adam

B. William and Marry

C. Happle White

D. Chippendale

E. Shearton

Choose the correct answer from the options given below:

il & o1 Oiferil 3 A lol 2l forgotfeiRaa ferit ‘cic Stifokiol Ferder’ @1 eI 8 ?
A. wsa

B. fafermr iz 33t

C. 3ua carsc

D. Rrida



E. oftsréar
il fou s1u fyeseul 3 2 & Fa= goi ¢

[Question ID = 1635][Question Description = S2_qSNz_PG_HMS_Q85]

1. B,C,D, Eonly/B, C, D3R E

[Option ID = 6537]
2. A, C, D, Eonly/A, C, DaieE

[Option ID = 6538]
3. A, B,D, Eonly/A, B, Dale E

[Option ID = 6539]
4. A, B, C,Donly/A, B, Ca D

[Option ID = 6540]

86) Match List | with List Il

List | (Project appraisal dimensions)

List ll(Activity)

A. Economic appraisal

I. Suitability is examined

B. Technical appraisal

Il. Determines financial viability

C. Organizational appraisal

lll. Scale of project and the process
adopted

D. Managerial appraisal

IV. Adequacy and competencies are
scrutinized

E. Operational appraisal

V. Indicates priority use

F. Financial appraisal

VI. Capability of project is judged

Choose the correct answer from the options given below:

et -1 B e -1l A g e

et - e -1l

( ufRisen Fcaforsuvr semer ) | ( sifefaf?rRy )

A. i FeaforsuvT |. Sugepar & st & Sl 3

B. aaoiichl Jeaforsunt Il. forfier rasriar forerfya war 3

C. IPISalcAD HeAloRsuvr

Ill. uf¥disien &t e siiz siueiré o1 gfogan

D. geerdia JeAaforsuvr

V. g=rtgar siiz grararsii &1 dAdign &f siedl 3

E. Jifigarcas Jeaforsuvt V. QreIf3repdr B3MenR UR YRIRT ADIerd war 3
F. forfir Jeaforsuvr V1. ufRirston &t greadr oI o=arR fop=t Srar 3

oif<l feu are famedl 3 A A8 3R gfore :

[Question ID = 1636][Question Description = S2_qSNz_PG_HMS_Q86]

1. A-,B-Il,C-V,D-V,E-1IV, F-Ill

[Option ID = 6541]
2. A-V,B-1ll,C-1,D-IV,E-VI, F-Il

[Option ID = 6542]
3. A-1L,B-VI,C-IV,D-1l,E-V,F-I

[Option ID = 6543]
4. A-ULB-1,C-V,E-Il,D-VI,F-1IV

[Option ID = 6544]

87) Match List | with List Il

List |

List Il

IA. EL Nino

I. An interaction where one
organism beneficially affects
second organism

B. Green house effect

Il. A practice/process that tends
to ‘long term change’ in land to
non-forest uses

C. Desertification

Ill. The progressive warming of
the earth’s atmospheric
temperature due to insulating




tffect of CO2 and other similar
ases

D. Deforestation IV. A periodic rise in temperature
of the Eastern Pacific

E. Commensalism V. Degrading a once fertile land

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -1l
A. wer oftsit |. o srceiiciaT Stel U Sild g Sild I aHPRI WU A
gIfrd oar 3
B. 3fior a1321 ||l. b gen / yfidgn Sit oSt @ SIk-dol GRIeI 3q ' SlEmpIfcrad
[gac uf¥acder * &t ik ygd aidt 3
C. lll. ordor-sE-siiaarss sk 3l aws &l srea 3l D gaaoRt
FBLACTIDUT (BT D DRUT Yedl @ aRIScIRI druedre ol yoisi augiy
D.
Iv. i @& 3 smaf2rs
: gdf goria & a3t 3 3 afg

E. asAifsrar V. @il 3dv 38 91 o1 fororolfeaa wen
il fou o1e fyscul 3 A At IR gfom :

[Question ID = 1637][Question Description = S2_qSNz_PG_HMS_Q87]
1. A-1,B-1,C-ll,D-V,E-IV

[Option ID = 6545]
2. A-lI,B-1,C-IV,D-1l,E-V

[Option ID = 6546]
3. A-lll,B-I,C-V,E-Il,D-1IV

[Option ID = 6547]
4. A-IV,B-1I,C-V,D-IV,E-1

[Option ID = 6548]

88) Arrange the steps of organization process in sequence:
A. Delegating the work

B. Grouping activities

C. Delegation of authority

D. Identifying and classifying the activities

E. Coordination

Choose the correct answer from the options given below

Jio1661 YRpAT @ <RUIl DI 3MoId 3 Aafderd 2 :
A. @ Jdluet
B. 31gat arferfaferit

C. gIffrrR &1 YaRIlsiol
D. sifefafril b userer woi ik aeffaa wen
E. JdAcrRI®

il fou s1u fyeseul 3 21 & Fa= goi ¢
[Question ID = 1638][Question Description = S2_qSNz_PG_HMS_Q88]
1. D,B,C, A E

[Option ID = 6549]
2. A,B,C,D,E

[Option ID = 6550]
3. B,A,D,C,E

[Option ID = 6551]
4. D,C, A, B, E

[Option ID = 6552]

89) Arrange the steps of buying process in sequence:

A. Evaluate the product



B. Exchange product with money
C. Find the product

D. Recognise the need

E. Develop interest in the product

Choose the correct answer from the options given below

o &t gfepzn & aRull DY igfapd A caaf¥erd o3
A. 3curg @I JcAidel DI

B. &ro1 @ 1% Ieurc oI fAforT @3

C. 3curc oI udl oI

D. Sie3d I uzdre!

E. 3curs 3 sfa faoh@a o3

il f3u a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 1639][Question Description = S2_qSNz_PG_HMS_Q89]
1. B,A, C, D, E

[Option ID = 6553]
2. D,C,E A B

[Option ID = 6554]
3. D,E,C,A, B

[Option ID = 6555]
4. A,D,C, B, E

[Option ID = 6556]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The color of ripe watermelon is higher in strength as compared to color of strawberry ice cream.
Reason R: The colors at normal value as in watermelon are always in their pure form and thus are full intensity colors.

In light of the above statements, choose the most appropriate answer from the options given below

il €1 erol fu aw 31w i sifdrperet (A) 3iiz g2 @1 a (R) @1 srr 3

ifdrpeet (A) : SIS MSIAMIA D 9T DI Jololl I UD U el D 91 i 9Iftb 4D BIedl 8

a® (R) : ARIGA I UR SR o avgsl B T 3 3ol g #U 3 2l 3 3R 51 YR gui digar arer 3971 8l 3
SWRfT Dl d sirclie 3 foratifea faaeul 3 A1 8 3= ol :

[Question ID = 1640][Question Description = S2_qSNz_PG_HMS_Q90]

1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) g¥ail 21t 8 3l (R), (A) 6t 3t = 8

[Option ID = 6557]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) clail 3@t 3 waq (R), (A) 6t 3 =1 ot &
[Option ID = 6558]

3. Ais correct but R is not correct/(A) 3@ 8 uzoq (R) 21t ot &

[Option ID = 6559]
4. A'is not correct but R is correct/(A) 3@t st 8 weog (R) &t &

[Option ID = 6560]

Topic:- HomeSci_SET2_B

1) Read the passage carefully and answer the question:

After ratification of the United Nations’ Convention on the Rights of the Child (UNCRC) in 1992, India changed its law on
juvenile to ensure that every person below the age of 18 years of age, who is in need of care and protection, is entitled to
receive it from the state. The National Commission for Protection of Child Rights (NCRC) was set up in March 2007 under the
Commission for Protection of Child Rights Act, 2005. The constitution of India guarantees all the children certain rights
which include: (i) Right to free and compulsory elementary education for all children between the age group of 6-14 years.
(ii) Right to be protected from any hazardous employment till the age of 14 years (iii) Right to be protected from being
abused and forced by economic necessity to enter occupation unsuited to their age or strength (iv) Right to equal
opportunities and facilities to develop in a healthy manner. However, despite having so many legal instruments the children



in India are still not secured. Several indicators are showing how the Child Rights are being violated in different parts of our
country whose plausible social and economic consequences would be more dangerous. Child Abuse is another dangerous part
of erosion which silently kills the potential and development spurt of many children. We still live in a tabooed society in our
country, where no-proper sex education is provided to the children. Children get molested and abused but due to
ignorance, they fail to protest and keep on becoming victim of exploitation for long.

3TEri9l Pl &RAlelgdd ug iR Yol oI IR S ¢

1992 3 AYTD AU D diel ARIPR Aot SMRIIRI (Y ol 2l 3R 2l ) D sreadeiol @ a1 HIRA of [P9IR U 31U6l Dol I dcelld BI;T BT AS
Afoif2ra e 6 18 ad 3 @ 3R] D YRI® caftp, BRI Sxsire sz g1 &l smagamdr 3, IS A 33 YIH D0l I 3BGR 3 e ifrpr
zgor 3rRNeT siftrforiar, 2005 @ daa aid 2007 3 asEi dret SIf2rbR 28101 IRNET ( Gol 2l 3= Hi ) &t Femuelr & o1 off siea @1 Ffaemor
13fl el B @B iRl G yrmyfer Sar @ el Afdafera - (i) 6-14 ad & sy ool & il acdl & fere gua siiz siforart grfires foren
@I 3fpR (i1 ) 14 ad & 3y ao =il it TaRo® ASPEIR A JRMEA ol BT ARDR ( iii ) Iorhl IRy A1 9Iftp B f1C IGTUIT IGRIRI 3
gA9I @l I i siforariarsii siiz Alel 9luur A IRASA Blol DI URUPR ( iV ) TaTd 3D A DRI Dol D fé1u e IaRRI 3R Ffaensit
I IRRIPR I, S0l AR Dlofoll Yraelsl dlol & JIagig R 3 acd 3nfl off JRMera oidl § ¢ Adad as coif 1 T o5 sa 91 B fAifdiear
311l 31 a1t 3Bl ®1 A YR Iccitrt fop=r Sir 361 3 frerd smurariiier Ammfsie siiz snféfe ufyvme sif2res aavea aist  dret el 9freoT
&1RUT I U 3R FaReld 3311 & Sl guag @ acdl Dl grIdl 3R IoId fADRI Dl 162 Bl d6fl A AATH a1 3 A 311 91 31Ul 91 3 vp
afSta st & A 3, Siei acdl @) 3 il 181 ofdY & Sicll 3 acal @ AT BDsWIedl 312 Aol 9NYUT BT & cifdbol SIIoIdT @ BIRYT A faR¥er
Dol 3 3RIB WA 3 3R i AR AD 9NYUI DI PR Fold 3B &

Which is one of the dangerous things done to the children that silently kills the potential and development spurt of many
children?

el D yfer Dl 318 Faroliep il 3 A PDlol U 3 Sl JUueU % gl Ol g3 iR ARt &l o162 oI asfl A A Par 3 ?

[Question ID = 1641][Question Description = S2_qSNz_PG_HMS_Q91]
1. Child rights/arer siférapre
[Option ID = 6561]
2. Child abuse/=ilet ofiwur
[Option ID = 6562]
3. Sex education/zier forer

[Option ID = 6563]
4. Child protection/arer Jizgior

[Option ID = 6564]

2) Read the passage carefully and answer the question:

After ratification of the United Nations’ Convention on the Rights of the Child (UNCRC) in 1992, India changed its law on
juvenile to ensure that every person below the age of 18 years of age, who is in need of care and protection, is entitled to
receive it from the state. The National Commission for Protection of Child Rights (NCRC) was set up in March 2007 under the
Commission for Protection of Child Rights Act, 2005. The constitution of India guarantees all the children certain rights
which include: (i) Right to free and compulsory elementary education for all children between the age group of 6-14 years.
(ii) Right to be protected from any hazardous employment till the age of 14 years (iii) Right to be protected from being
abused and forced by economic necessity to enter occupation unsuited to their age or strength (iv) Right to equal
opportunities and facilities to develop in a healthy manner. However, despite having so many legal instruments the children
in India are still not secured. Several indicators are showing how the Child Rights are being violated in different parts of our
country whose plausible social and economic consequences would be more dangerous. Child Abuse is another dangerous part
of erosion which silently kills the potential and development spurt of many children. We still live in a tabooed society in our
country, where no-proper sex education is provided to the children. Children get molested and abused but due to
ignorance, they fail to protest and keep on becoming victim of exploitation for long.

3TEIi9l Pl &RAlolgdd ug 3ii? gl @I IR S :

1992 3 Ay v, D aret MRIPR AFdoehl PRPRI (P wor 2l 3R Ml ) B sreEelel & a6 HRA of P9Ik U= 31U6l Plgfel 3 dcelld BT 3T AT
Hfoif2re fopen o5 18 ad A @a IRy B yA® cafep, RRY Sxasire iz 0T Bl Ma9addr 3, A A $A YIH Dol DI DGR & dIcl URIBR
JizgIuT 3Rt siferforiar, 2005 & dasa st 2007 3 IsEi dret 2R 28101 IRET ( Uol 2 3= i ) &t Fenmuenn & o1 off siea o1 faemor
13fl el B oo ifroRl G yrmyyftr Sar 3 el Aafdaftra - (1) 6-14 ad & 3y aof & weft acdl & fere gua siiz siforart yrfds frem
oI 3iferpr (i1 ) 14 ad & 3R ao el 9ft WaRo® AsPIR A JRMEMA ol @I 3iferdR ( iii ) Iorhl IRy a1 91ftp B fIe IR IGIRI 3
ga91 ool 6l i siforariarsii sl et oNwur A M3 dlel @I f2rpR (iv ) Tavey aild A fRreRia ol o fore 36l SRR 31 Ffremsit
@I 3fePR BICTfB, S0l AR Dlgfoll YIaeiTol dlol B dIasls MRd 3 acd 3nfl off IRM3a oadi ¥ &f dAdas as gt B T 6 o J91 D fAfdoor
811l A a1t PRI @I b Yo Iccidet o S 61 3 ferd smurariiifirer A sz snfife uf¥vme sif2r e sist  dre dlol ofeuT
&IRUT DI TP 3R HAGID 3311 & Sl gUaIT Bs el bl 1A 3i1R oI [IPRI DI 162 DI disil A AATH DT & A 31T 91 31Ul S9I 3 Td
afSta Jarst 3t 3Ba 3, Siei acdl @) i Aier 181 oidl &1 Skl 3 acal @ AT DsWIoil 32 Aol 9NYUT BT & cifdbol STIoIAT @ DIRUT A faRier
@1 3 IRIBA WA 3 3R cid IR AD 9NYUI BT DR doia 3BA 3

This is NOT the right of a child.
g o< @I AferpR o1l 3:

[Question ID = 1642][Question Description = S2_qSNz_PG_HMS_Q92]
1. Right to free and compulsory elementary education for all children between the age group 6-14 years/6-14 au 3] asf @& it =l D ferw fige® sliz
siforart yrfdo Srem @I siféprR

[Option ID = 6565]



2. Right to be protected from being abused and forced by economic necessity to enter occupation unsuited to their age or strength /3orcht 3R] 1 9Ifep D
foTQ SIQIUYEh SIARIRT 3 Yaor @2ol i 3nfefas siforarfarsii siiz et ofiwur 3 A3 Slol BT IiferPR
[Option ID = 6566]

3. Right to be protected from any hazardous employment till the age of 16 years/16 axf &t 3R] dm b2t 8ft a6 AsPIR 3 JASI ol DI MfADPR

[Option ID = 6567]
4. Right to equal opportunities and facilities to develop in a healthy manner/zaze @3 3 Gl Slol @ e Wil 3aRRI 3l Jfdensil oI siftiprR

[Option ID = 6568]

3) Read the passage carefully and answer the question:

After ratification of the United Nations’ Convention on the Rights of the Child (UNCRC) in 1992, India changed its law on
juvenile to ensure that every person below the age of 18 years of age, who is in need of care and protection, is entitled to
receive it from the state. The National Commission for Protection of Child Rights (NCRC) was set up in March 2007 under the
Commission for Protection of Child Rights Act, 2005. The constitution of India guarantees all the children certain rights
which include: (i) Right to free and compulsory elementary education for all children between the age group of 6-14 years.
(ii) Right to be protected from any hazardous employment till the age of 14 years (iii) Right to be protected from being
abused and forced by economic necessity to enter occupation unsuited to their age or strength (iv) Right to equal
opportunities and facilities to develop in a healthy manner. However, despite having so many legal instruments the children
in India are still not secured. Several indicators are showing how the Child Rights are being violated in different parts of our
country whose plausible social and economic consequences would be more dangerous. Child Abuse is another dangerous part
of erosion which silently kills the potential and development spurt of many children. We still live in a tabooed society in our
country, where no-proper sex education is provided to the children. Children get molested and abused but due to
ignorance, they fail to protest and keep on becoming victim of exploitation for long.

3TEIi9l Pl &RAlelgdd ug 3R gl oI IR S ¢

1992 3 AYTD A D dIel ARIPR Aot SMRIIRI (Y ol 2l 3R 2l ) B srefadelol @ dIc HIRA of fP9IR U 31U6l Dlofel I dcelld BI;T BT AS
Aforf2ra e 6 18 ad 31 @ 3R D yRI® caftp, BRI Sxsire sz g1 &l smagamdr 3, IS A 33 YIH B0l DI 3BcR 3 did ifpr
g0t 3rRNeT siftiforiar, 2005 & daa aid 2007 3 s aret iR 28101 RNeT ( Gol 2l 3= Hi ) &t Femuelr & o1 eff siea @1 Ffaemor
13fl il B @B iRl b yramyyfer Sar @ el Afdafera - (i) 6-14 ad & sy aof & il acdl & fere gua siiz siforart grftrs foren
@I PR (i1 ) 14 ad & 3y ao =il 3t TaRoI® ASPEIR A JRMEA ol BT ARDR ( iii ) Iorhl IRy A1 9Iftp D U IGTUIT RIGRIRI 3
gA9I @l &I i siferariarsii siiz Alel 9NHur A A Blol DI ARUPR ( iV ) Taed a3id A DRI Bal B e e IaRRI 3R Ffaensit
@I IRRIPR I, Sl AR Piofoll Yraelsl dlol & JIagig R 3 acd 3nfl off JRMera odl § ¢ Adad as coif 1 T o5 sa 91 B fAifdiear
311l 3 a1t SMfIBRI ®1 3 YR Iccitet fop=r Sir 361 3 fOrerds smurarEiiier Amfsie siiz snféfe ufyvme 3if2res aaeied aisT  dret el 9freuT
&IRUT I TP 3R FaReld 3311 & Sl guag @ acdl Dl grIdl 31R IoId DRI Dl 162 Bl d6fl A AATH a1 3 A 311 91 31Ul 91 3 vp
afSta zarst & A 3, Siei acdl @) 3 Aler 181 ofdY &1 Sicll 3 acal @ AT DsWIeil 312 Aol 9NYUT BT & cifdbol JSIIoIAT @ BIRYT A faRYer
Dol 3 3RIB WA 3 3R i A AD 9NYUI DI PR Fold 3B &

Child abuse occures in India but is not reported and children fail to protest because
qIeT Hiol ONYUT $IRA 3 BT 3 URoq Yferafed orél fpam it 3 sz & ferter weot 3 farwer waa & a=iifep-

[Question ID = 1643][Question Description = S2_qSNz_PG_HMS_Q93]
1. Children are not vulnerable/sca srféi oidt 3

[Option ID = 6569]
2. Children are ignorant/a<a srsimoft &
[Option ID = 6570]
3. Child rights are being violated/aret sifefRI @I Gotol fdpa SIT 38T &

[Option ID = 6571]
4. Children don’t have any right/scal @ @I siffiorR oidt 3

[Option ID = 6572]

4) Read the passage carefully and answer the question:

After ratification of the United Nations’ Convention on the Rights of the Child (UNCRC) in 1992, India changed its law on
juvenile to ensure that every person below the age of 18 years of age, who is in need of care and protection, is entitled to
receive it from the state. The National Commission for Protection of Child Rights (NCRC) was set up in March 2007 under the
Commission for Protection of Child Rights Act, 2005. The constitution of India guarantees all the children certain rights
which include: (i) Right to free and compulsory elementary education for all children between the age group of 6-14 years.
(ii) Right to be protected from any hazardous employment till the age of 14 years (iii) Right to be protected from being
abused and forced by economic necessity to enter occupation unsuited to their age or strength (iv) Right to equal
opportunities and facilities to develop in a healthy manner. However, despite having so many legal instruments the children
in India are still not secured. Several indicators are showing how the Child Rights are being violated in different parts of our
country whose plausible social and economic consequences would be more dangerous. Child Abuse is another dangerous part
of erosion which silently kills the potential and development spurt of many children. We still live in a tabooed society in our
country, where no-proper sex education is provided to the children. Children get molested and abused but due to
ignorance, they fail to protest and keep on becoming victim of exploitation for long.

3TEIi9l Pl &RAlolgdd ug 3R g oI IR S :

1992 3 3> weg, D drel MfUPR Asdoehl ffRERI (Y wet Al 3R Al ) D sl & a6 3Rd of P9Ik UR 31Ucl PIofel 3 Goclid DA FU AS
Aforfra o fo 18 ad 3 @ IR D YR caftp, RRI Sxasire siiz Agvr &l smagamdr 3, IS A 33 YA D0l DI 8BGR & die R



2ot 3mrRNeT siftformar, 2005 @ daa aid 2007 3 asEiR dret Sif2rbR JA2e1uT IRNeT ( Got 2t 3= i ) &t Femuelr & o1 oft siea @1 Ffdemor
13fl el B o iRl b grmyfer Sar @ el Afdaftra - (i) 6-14 ad & sy ool & il acal & fere gua siiz siforart grfirs foren
@I PR (i1 ) 14 ad & 3y ao =il 31 TaRold ASPEIR A JRABA ol @I ARDR ( iii ) Iorhl IRy AT 9Iftp B fo1e IGTUIT RIGARI 3
ga9I @l &l 3ffes siferariarsii siiz Alel 9Nuur A A Blol @I ARPR ( iV ) Tazy adid A fADRIa ®al & e e raRRI 3R Ffaensit
@1 Sife[PR BIcIf, S0l AR Dlofoll YIaeinol dlol & dIasls MR 3 acd 3nft 9§t IA3ia odl ¥ ©f Adas a6 gt 3 T b o J91 & fafdcor
811l 31 a1t SMfIpRI @1 A YR Iccitt v S 61 3 frerd smurariiier Ammfsie sz snféfe ufevme sif2re aaveia aisT  dre ol 9freuT
&IRUT BT U 3MIR ol 33311 & Sl guara ¢ acdl &l 191 3R oI [ABRI Bl o162 DI ASl A AATH Bl 3 3 TSI o rUal Sor i Tp
afsia st A A 3, Siei acal @t i Aot forgm o1l & il € acal @ amer Bl siiz Aler 9NYUT BXdr 3 Afdbol 3ISITeIdT @ BIRUT A faRler
Dol 3 IRIPBC e & 3R cid AR AD 9INYUI DI {IIPR ol 3B &

The full form of UNCRC is
3, wol 2l 3= 2’ @1 gouf wu 3:

[Question ID = 1644][Question Description = S2_qSNz_PG_HMS_Q94]

1. United Nations Child Right Commission/¥eises oloRl ases Asc ddftore
[Option ID = 6573]

2. United Nations Convention on the Rights of the Child/emses oloRt woderel 3ifel G ASTA W G AsES
[Option ID = 6574]

3. Union of Nations for Child Rights Convention/3férret sif oloRT Wiz arscs e dodorol

[Option ID = 6575]
4. United Nations for Child Resource Commission/Jeises oloRl B2 & arsces B3Rl ddftorer

[Option ID = 6576]

5) Read the passage carefully and answer the question:

After ratification of the United Nations’ Convention on the Rights of the Child (UNCRC) in 1992, India changed its law on
juvenile to ensure that every person below the age of 18 years of age, who is in need of care and protection, is entitled to
receive it from the state. The National Commission for Protection of Child Rights (NCRC) was set up in March 2007 under the
Commission for Protection of Child Rights Act, 2005. The constitution of India guarantees all the children certain rights
which include: (i) Right to free and compulsory elementary education for all children between the age group of 6-14 years.
(ii) Right to be protected from any hazardous employment till the age of 14 years (iii) Right to be protected from being
abused and forced by economic necessity to enter occupation unsuited to their age or strength (iv) Right to equal
opportunities and facilities to develop in a healthy manner. However, despite having so many legal instruments the children
in India are still not secured. Several indicators are showing how the Child Rights are being violated in different parts of our
country whose plausible social and economic consequences would be more dangerous. Child Abuse is another dangerous part
of erosion which silently kills the potential and development spurt of many children. We still live in a tabooed society in our
country, where no-proper sex education is provided to the children. Children get molested and abused but due to
ignorance, they fail to protest and keep on becoming victim of exploitation for long.

3TEIi9l Bl &RAlolgdad ug 3R gl oI IR S :

1992 3 Iy v, D arcT MRIPR Aol MRPRI (P wor 2l 3R Ml ) B sreEeler & a6 HRA of P9Ik Uz 31U6l Plgfel 3 dcelld B;T 3T A
Hfoif2ra fopen o5 18 ad A @a Ry B yA® cafep, RRY Sxasime iz 0T Bl Ta9Addr 3, A A $A YIH Dol DI DGR & el URIBR
zguT 3Rt siftiforiar, 2005 & dasa i 2007 3 IsEi dret if2rpR 328101 IRt ( Uol 2 3= i ) &t Fenueln & o1 off siea o1 faemor
3fl gl B B froRI & yrmyyftr Sar 3 Rl Aafdarta - (1) 6-14 ad & 3Ry aof o weft acdl & fere Fgua siiz siforart yrids fren
@I 3iferprR (i1 ) 14 ad & 3 ae et 3ft WaRo® AsPIR A JRMEMA ol oI 3iferpR ( iii ) Iorhl IRy a1 91ftp B fIe IGTURITD IaIRI 3
ga9l ool &l i siforariarsii siiz et oNgur A M3 dlel @I ifererR (iv ) Tave aild A freRia ol o fore 36l aRRI 31 Ffremsit
@1 PR BICTfD, S0l AR Dlgfoll YIaeimol dlol d dIasls MRd 3 acd 3nfl off M3 odfi ¥ &f dAdas us gt B T b o J91 D fAfdcor
811l A a1 SMfAPRI @I [ Yo Iccidet fopan S 61 3 et smurariiifrer A siiz snfife uf¥vme sif2re e sist  are dlel ofeuT
&RUT DI TP 3R WAGIND 3311 & Sl guaIT Bs el bl 1 3i1R oI [IPRI Bl 162 DI dsil A AATH DT & A 31T 91 31Ul S9I 3 Td
afSta Jarrst 3t 3Ba 3, Siei acdl @) i Aier 181 oidl &1 Skt 3 acal @ AT DsWIoil 32 Aol 9NYUT BT & cifdbol ISTIoIAT @ DIRUT A farRter
@Il 3 IRIBA WA 3 3R cid IR AD 9NYUI BT DR doid 3B 3

Right to free and compulsory elementary education for all children covers the children between the age group of
3l gl @ fore gud sz siforart grRitie 1318 @ siféroR 3 o IRy 991 @ =l @l Afdafcra fovar sk 3 ?

[Question ID = 1645][Question Description = S2_qSNz_PG_HMS_Q95]
1. 3-6 years/3-6 ad

[Option ID = 6577]
2. 3-18 years/3-18 ad

[Option ID = 6578]
3. 6-14 years/6-14 ad

[Option ID = 6579]
4. 6-18 years/6-18 adf
[Option ID = 6580]

Topic:- HomeSci_SET2_C

1) Read the passage carefully and answer the question:



New technology does not remove the need to employ systematic approach to Communication for Development. Well-
designed mobile content is often informed by local tastes so that people can identify with the content. The content needs
to be ‘sticky’ so that the user wants to return to it again and again. It could be conveniently used by frontline social
workers, easily understood by the masses and easy to recall.

Creative techniques are used to make educational content engaging and entertaining. ‘Mobile kunji’, an innovative audio
visual job aid developed by BBC Media Action for use by front line health workers is one such example, that features an
empathetic yet authoritative female doctor character, Dr. Anita, who ‘speaks’ to rural families. She is designed to be both
trusted and respected by community health workers and families alike.

The audio message from the doctor is followed by rhyming couplets, punctuated by drum beats and the sound of a stringed
instrument, which function as a mnemonic for key health messages. This rhyme is about preparing for delivery: “Keep three
phone numbers in mind: Hospital, transportation and community health worker. To keep tension at bay: Plan as we say!”

The audio message is motivating health workers too. A nurse midwife in Samastipur, Bihar was surprised that someone was
giving such an expert advice in her local language, ‘even though she is a doctor and educated, she was speaking in
Bhojpuri!’, another community health worker summed up, “l have learned how to explain things in simple and easy
language. Now, | can explain the content to the beneficiaries in the same way”.

Localized content is thus crucial for achieving resonance with users. However, it’s much harder to take context-specific
content to scale across disparate geographical regions.
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Rifdpe1n 2 Y 9 ASA D TN G Dl eafol 2 [RBA Sl fEudl iz AR areriq &I iR gz Fare Sl @ fe1u ud I fer-AeRIP BT PRI
BAAS A5 DIAar gaa bl Tl D ar 3 3 : " oot gremd Hzear3il Y exarer 3 3 Rifdpeearern , uf¥ase sz AFSIRIG Farea drical  doa ot
G2 30l O feru : Si18d e 3 dATbIfR "

YT AT AL DRI I ol QRA B3 YR B FeriiyR 31 ued uf¥anf¥ant o1 I 321 a1 A 3Rt 331 &b @IS 3rueil Ferofi= sirar 31 ¥ 81 21
3 313, ' 911 8l ag Rifdpearas 3 3iiz 19131 3, Afbol a6 sisTgSt 3t it &1 oft! !, ueb 3rca ANIGIRIG Fared wricwal of sifireres s, "ol disil ot aRer
3113 3IIRATGT HITHI 31 Ao A feRIT 8 314, 3 a2l ol 321 1R A ARIE[I DI R B2 APar g, "

3 YDR FATGIRIA ARl YRIPI3I @ ATl yfereafer gra @o @ fere sscayyt 3 sietifs, srtaret silsnferd il 3 daet 3q csi-fafdrse AwEf con
a5 Dol 3

Making the content “sticky” means-
[Question ID = 1646][Question Description = S2_qSNz_PG_HMS_Q96]
1. Pasting it on the walls in public places/s3 Jdsifera Fermell w dRT w fRuwTen

[Option ID = 6581]

2. Making it complex enough to be understood by the doctors only/s3 wRifa Siféet dotol @ fere dact Siact gRI A ST AD &
[Option ID = 6582]

3. User wants to return to it again and again/3u=ilerdl Yoldol: 3A W YeAIdciol Bl AEAT 3

[Option ID = 6583]
4. The message should be abstract/ziger g 3 dlon aifde

[Option ID = 6584]

2) Read the passage carefully and answer the question:

New technology does not remove the need to employ systematic approach to Communication for Development. Well-
designed mobile content is often informed by local tastes so that people can identify with the content. The content needs
to be ‘sticky’ so that the user wants to return to it again and again. It could be conveniently used by frontline social
workers, easily understood by the masses and easy to recall.

Creative techniques are used to make educational content engaging and entertaining. ‘Mobile kunji’, an innovative audio
visual job aid developed by BBC Media Action for use by front line health workers is one such example, that features an
empathetic yet authoritative female doctor character, Dr. Anita, who ‘speaks’ to rural families. She is designed to be both
trusted and respected by community health workers and families alike.

The audio message from the doctor is followed by rhyming couplets, punctuated by drum beats and the sound of a stringed
instrument, which function as a mnemonic for key health messages. This rhyme is about preparing for delivery: “Keep three
phone numbers in mind: Hospital, transportation and community health worker. To keep tension at bay: Plan as we say!”

The audio message is motivating health workers too. A nurse midwife in Samastipur, Bihar was surprised that someone was



giving such an expert advice in her local language, ‘even though she is a doctor and educated, she was speaking in
Bhojpuril’, another community health worker summed up, “l have learned how to explain things in simple and easy
language. Now, | can explain the content to the beneficiaries in the same way”.

Localized content is thus crucial for achieving resonance with users. However, it’s much harder to take context-specific
content to scale across disparate geographical regions.

STENi9l DI eAToIgdd Ue 3R Yoal I IR S :

1% dmoild famra & fere Far o yfer sraf¥-erd sursta ol BrIBKT mor B smavaamdr o) g3 ol wfl & sredl ave A siffrofeud HAlarse AP O g FAToIRT FAICE B SRI Jfra
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AuSt D an & 3 : " ol gy AzcAsii Y exatet 3 3 Rifdpearery , ufvasa siiz ACIRPe Fared orival  delra o1 g3 e @ e : Sl a3 @ved 3 dar Hifse "

ofeI AT FareA oIl ot oft YA w2 w1 E e B AeFAiyR 3 v uf¥anf¥et o1 @t 33 a1a A 3Rt 331 6 DI sruchl Femoflr srer 3 ¥t gg1 Aems S 1 3, ' M1k 81 a6 Rifdseads 3
3iiz farfdra 3, Aiftpor as siisrgst 3 et & ofi! ', v so1 ARYGIRIG Far-e wriwdl of sifirere s, "For sl DY J1ver 3iiz simTor s 3 AaAsiTon Hha RrI 3 arg, i emnfRI @ 3:ft
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S YR Ferrslird AREf YRt wrer gfeaft g oot d R secayuf 3 sreift, st sitsiferas S 3 aider 3q Hea-Rifdre ARRR dor aga ofder 3
‘Mobile kunji’ is an innovative audio visual job aid developed by:

U oldlolddl 293-9fca BRI AsRI® ' Aldrsd BHil ' foad gRI faol3a &l sril 3

[Question ID = 1647][Question Description = S2_qSNz_PG_HMS_Q97]
1. All India Radio/sureramft
[Option ID = 6585]
2. Bihar state government/fRER I DR
[Option ID = 6586]
3. Women and Child welfare Department/afact ud dret dscermor frsier

[Option ID = 6587]
4. BBC Media Action/dft ot 2ft sfifSen wrf

[Option ID = 6588]

3) Read the passage carefully and answer the question:

New technology does not remove the need to employ systematic approach to Communication for Development. Well-
designed mobile content is often informed by local tastes so that people can identify with the content. The content needs
to be ‘sticky’ so that the user wants to return to it again and again. It could be conveniently used by frontline social
workers, easily understood by the masses and easy to recall.

Creative techniques are used to make educational content engaging and entertaining. ‘Mobile kunji’, an innovative audio
visual job aid developed by BBC Media Action for use by front line health workers is one such example, that features an
empathetic yet authoritative female doctor character, Dr. Anita, who ‘speaks’ to rural families. She is designed to be both
trusted and respected by community health workers and families alike.

The audio message from the doctor is followed by rhyming couplets, punctuated by drum beats and the sound of a stringed
instrument, which function as a mnemonic for key health messages. This rhyme is about preparing for delivery: “Keep three
phone numbers in mind: Hospital, transportation and community health worker. To keep tension at bay: Plan as we say!”

The audio message is motivating health workers too. A nurse midwife in Samastipur, Bihar was surprised that someone was
giving such an expert advice in her local language, ‘even though she is a doctor and educated, she was speaking in
Bhojpuri!’, another community health worker summed up, “l have learned how to explain things in simple and easy
language. Now, | can explain the content to the beneficiaries in the same way”.

Localized content is thus crucial for achieving resonance with users. However, it’s much harder to take context-specific
content to scale across disparate geographical regions.
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3iiz RIfdra 2, ciftpor as sitsTgst 3 der 281 oft! ', uep srov1 ARIGIRITG Far-e driwat of sifdrere fopem, "3l <isil @t et 3iiz srrRATeTr HiTeT 3 A3rsIIen Ha RIS ara, 3 cmsnffil o 32t
avs A Aefl HI AR B ADA G, "

33 YPR FATGIRIGT AT gRITwp13iiad mer yfereafsr gre wol @ fore siscayyf 3 aietifdp, sridiret silonferes &gl 3 aimuer 3q s -fafdrse Amaref} don aga ofda 3
Which three numbers are needed to be kept in mind?
fopor ciior IR DY eareT 3 3301 B SReed & ?

[Question ID = 1648][Question Description = S2_qSNz_PG_HMS_Q98]
1. Hospital, BLO and medical store/fifdseimerr, €0 wet0 8ii0 3ii gar &t gbrer

[Option ID = 6589]
2. Hospital, transportation and community health worker/fifdorirerr, uf¥aser sz APHGIRID FdrRe:r drRidAt

[Option ID = 6590]
3. Doctor, Neighbourer and BLO/fifdscaras, usiht aiiz 0 wei 30

[Option ID = 6591]
4. Sarpanch, transportation and ward member/3rua, uf¥aser 3z Aefiaper AT

[Option ID = 6592]

4) Read the passage carefully and answer the question:

New technology does not remove the need to employ systematic approach to Communication for Development. Well-
designed mobile content is often informed by local tastes so that people can identify with the content. The content needs
to be ‘sticky’ so that the user wants to return to it again and again. It could be conveniently used by frontline social
workers, easily understood by the masses and easy to recall.

Creative techniques are used to make educational content engaging and entertaining. ‘Mobile kunji’, an innovative audio
visual job aid developed by BBC Media Action for use by front line health workers is one such example, that features an
empathetic yet authoritative female doctor character, Dr. Anita, who ‘speaks’ to rural families. She is designed to be both
trusted and respected by community health workers and families alike.

The audio message from the doctor is followed by rhyming couplets, punctuated by drum beats and the sound of a stringed
instrument, which function as a mnemonic for key health messages. This rhyme is about preparing for delivery: “Keep three
phone numbers in mind: Hospital, transportation and community health worker. To keep tension at bay: Plan as we say!”

The audio message is motivating health workers too. A nurse midwife in Samastipur, Bihar was surprised that someone was
giving such an expert advice in her local language, ‘even though she is a doctor and educated, she was speaking in
Bhojpuri!’, another community health worker summed up, “l have learned how to explain things in simple and easy
language. Now, | can explain the content to the beneficiaries in the same way”.

Localized content is thus crucial for achieving resonance with users. However, it’s much harder to take context-specific
content to scale across disparate geographical regions.
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Mobile Kunji has a potential to be used as-

A. Capacity building tool for the health workers

B. Tool to educate health workers

C. Tool to inform only health workers

D. Tool to inform people directly

E. Tool to educate masses only

Choose the correct answer from the options given below:
ar1sel @il 3 grerdr 8 fob AP YIeT 57 WU 3 8l AD -

A. Yarrea o @ fére gEran forfor Sudvr

B. varrea ofdkil oI forfdra oo @ fere sumur



C. dact Farea okl @l Pfra oo & fere sumur

D. il @ yraet U A JRIa oo o fore Jumor

E. d5aet Sterar oI 1f3ra @01 @ fére Ium:ur

il fou s1u fyepeul 3 21 & 3a= goi ¢

[Question ID = 1649][Question Description = S2_qSNz_PG_HMS_Q99]
1. A, B, Conly/dact A, B 3z C

[Option ID = 6593]
2. B, C, D only/daer B, C aie D

[Option ID = 6594]
3. A, B, Donly/dact A, B 3liz D

[Option ID = 6595]
4. A, C, D only/daa A, C aliz D

[Option ID = 6596]

5) Read the passage carefully and answer the question:

New technology does not remove the need to employ systematic approach to Communication for Development. Well-
designed mobile content is often informed by local tastes so that people can identify with the content. The content needs
to be ‘sticky’ so that the user wants to return to it again and again. It could be conveniently used by frontline social
workers, easily understood by the masses and easy to recall.

Creative techniques are used to make educational content engaging and entertaining. ‘Mobile kunji’, an innovative audio
visual job aid developed by BBC Media Action for use by front line health workers is one such example, that features an
empathetic yet authoritative female doctor character, Dr. Anita, who ‘speaks’ to rural families. She is designed to be both
trusted and respected by community health workers and families alike.

The audio message from the doctor is followed by rhyming couplets, punctuated by drum beats and the sound of a stringed
instrument, which function as a mnemonic for key health messages. This rhyme is about preparing for delivery: “Keep three
phone numbers in mind: Hospital, transportation and community health worker. To keep tension at bay: Plan as we say!”

The audio message is motivating health workers too. A nurse midwife in Samastipur, Bihar was surprised that someone was
giving such an expert advice in her local language, ‘even though she is a doctor and educated, she was speaking in
Bhojpuri!’, another community health worker summed up, “l have learned how to explain things in simple and easy
language. Now, | can explain the content to the beneficiaries in the same way”.

Localized content is thus crucial for achieving resonance with users. However, it’s much harder to take context-specific
content to scale across disparate geographical regions.
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The characteristic features of context specific content for communication are-

A. It cannot be scaled up

B. It cannot be used in all states

C. It will be equally valid in all states

D. It can be scaled up easily

E. It is very powerful for behaviour change communication

Choose the correct answer from the options given below:

ar 3q e fafdrse ARl & siftrengifte fadaam 3-

A. 33 9GRI oidl S ADdar

B. 331 0t Il A sdaImer o8l fdpem S Asar 3



C. sz 13fl ISl 3 FeIIeT U A Al BT

D. 33 sirAarefl A dGRIT SIT ADAT 3

E. @z rasr uf¥dader ar @ 1o aga eiftporrcht 3
il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 1650][Question Description = S2_qSNz_PG_HMS_Q100]
1. A, B, Conly/®dac A, B aliz C

[Option ID = 6597]
2. A, B, D only/dact A, B 3iiz D

[Option ID = 6598]
3. B, C, D only/aaa B, C siiz D

[Option ID = 6599]
4. A, B, Eonly/dact A, B aliz E

[Option ID = 6600]

Topic:- GP40_D4_SH1_SET2_A

1) Study the table carefully and answer the question that follow.

The following table have 5 items along with number of items brought and sold for each quarter for each item.

ike Share & Subscribe-E Notes 4u Online Study

B - Iteﬁ brought iaitially in the quarter, S - Item sold in that quarter)

Quarter -> i Q2 Q3 Q4
Items B S B_ S B S B S
A 300 | 170 | 400 | 335 | 370 | 320 | 410 | 370
B 270 | 180 | 280 | 200 | 350 | 330 | 380 | 340
C 280 | 210 | 350 | 310 | 250 | 200 | 250 | 200
D 320 | 250 | 340 | 290 | 280 | 180 | 280 | 240
E 325 | 275 | 370 | 315 | 320 | 170 | 265 | 190

aiferet ot Araeneciiyde ufeu 3iiz forst geor a1 3R A :
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Find out the average of difference of item brought and item sold f¢r Quarter 1.
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[Question ID = 2776][Question Description = S2_qSNz_PG_GP40_Q01]

1. 81
Option ID = 11101]
(&5

[Option ID = 11102]
3. 83

[Option ID = 11103]
4. 84

[Option ID = 11104]

2) Study the table carefully and answer the question that follow.
The following table have 5 items along with number of items brought and sold for each quarter for each item.

(B - Item brought initially in the quarter, S - Item sold in that quarter)
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Quarter -> Q1 QZ\/ Q3 Q4 .y
Items B S B S B S B S
A 300(170|400(335|370|320(410|370
B 270|180 (280|200 |350 (330|380 |340
C 280|210| 350|310 | 250|200 | 250|200
D 320 |250|340(290| 280|180 | 280 | 240
E 325(275|370(315|320|170| 265|190
o e wao

aiféret o Araemciiyde ufge iz et Ysat @1 3= e

forgaiferfRaa aferast 3 uier avqsil sik g fermdl 3 Sord @@ a fiaga &t vz & o1 & (B - Rremdt 3 sy 3 agr b o1 avq, S - 3 fendl 3 R &1 o€ avqE)

Pomdt -> Q1 | Q2 | Q3 | Q4
aq [B|S|B|s|[B|s|B|sS
A [300[170400335(370320410/370
B [2701802801200/350/330/380340
C  [2802101350:310250/20012501200
D [320250:3401290/280/1802801240
E  [3250275[370(315/320/1701265/190

Which quarter has maximum number of items sold?

mm;ﬁﬁa;aaﬁmémqﬁﬁ

[Question ID = 2777][Question Description = S2_qSNz_PG_GP40_Q02]

1. Q1

[Option ID = 11105]
2. Q

—
[Option ID = 11106]
. Q3

[Option ID = 11107]
Q4

[Option ID = 11108]

3) Study the table carefully and answer the question that follow.
The following table have 5 items along with number of items brought and sold for each quarter for each item.

(B - Item brought initially in the quarter, S - Item sold in that quarter)

W5 Vv
Quarter -> Q1 —5 Q2 / Q3 Q4 ,\o,

Ttems B [(s)|B[(s)|8][s|B]Ss @ /,55-(,\1
A 300170400335 370[320[410|370 3(9?)1\\}‘2 - @
B 270180280200 350330380 340 |/ /
c 280|210 (350|310 250200250 | 200 l’;_ﬁ')
D 320[250(340 (290|280 (180280240
E 325[275(370(315|320(170( 265|190

< _g = '(\\-\50
FG <=
aiferest o Araenoilyde ufgu 3iiz Rt oot o1 32 AR :

1:@‘“\/

forgarferfRaa aferast 3 uier avqsil sl g ferndl 3 Sord @@ a fiaga &t iz & o1 & (B - Fremdt 3 sy 3 agar b o1 aqy, S - 3 fendl 3 R & o€ azqE)

fam@t -5 Q1 | Q2 | Q3 | Q4
ag |[B|Ss|B|s|[B|s|B|S
A [300[170400335(370320410/370
B [270/1801280200350(330/380340
C  [2802101350310250/200/2501200
D [3202503401290/280/1802801240
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| E |325|275|37o|31 5|3zo|1 70|265|1 9o|
o) &L j
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What is the percentage increase of itemoré Q1 to Q2? ) @-
R

I

Q1 3 Q2 3 axqail @ Rz 3 Roeor yftrerd gfy; 5 3 7 —e—
— — — —
[Question ID = 2778][Question Description = S2_qSNz_PG_GP40_Q03]

1. 32.74

[Option ID = 11109]
2. 31.53

Option ID = 1110]
ey S

[Option ID = 11111]
4. 31.36

[Option ID = 11112]

4) Study the table carefully and answer the question that follow.
The following table have 5 items along with number of items brought and sold for each quarter for each item.

(B - Item brought initially in the quarter, S - Item sold in that quarter)

@\_’_@3 S g -;V\\D

Quarter -> Q1 Q2 Q3 Q4 )
—_— — —_ — \w\é_‘\ﬁ KLO\O
Items B S B S B S B S 92 Yive W&o ~
. 0
A 300|170 400 (335|370 |320(410|370 82 \-%_.,‘,O.‘\'\,E'D - )

270|180 | 280 | 200|350 (330|380 | 340

Oﬂ
B [CAVY \w .
Cc 280|210 350|310 250|200 | 250 | 200 /'{@'\9
D

320|(250(340|290|280|180|280| 240

E 325|275|370(315|320|170| 265|190

Y. T .YV T .7 <9
aiféret o Aracmoiiyde ufge iz et Ysat @1 3= S

forgaiferfRaa aferast 3 uier avqpil sl Y fermdl 3 Sord @ a Riaga &t vz &Y o1 3 (B - fremdt o sy 3 agar bt o1 aq, S - 3 foendl 3 R &1 o€ avgE)

Iﬁmréi -> Q1 Q2 Q3 Q4

axq (B|S|B|S|[B|S|B|S

A |300/170400[335(370,320410/370

B |270180{280/200,350(330/380,340

C  [280[210(350/310/250[200250(200

D  |320250(340[290/280/180280/240

E  [325/275/370/315(320(170[265|190]

/

Which quarter has the minimum bought to sold ratio?

frar fEmd & axpr ez A@:—mﬂm%?

[Question ID = 2779][Question Description = S2_qSNz_PG_GP40_Q04]
1. Q1

[Option ID = 11113]
2. Q2

[Option ID = 11114]
3. Q3

[Option ID = 11115]
@y

[Option ID = 11116]

5) Study the table carefully and answer the question that follow.
The following table have 5 items along with number of items brought and sold for each quarter for each item.

(B - Item brought initially in the quarter, S - Item sold in that quarter)

Quarter -> Q1 Q2 Q3 Q4

Items B‘S B‘S B‘S B‘S
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A 300|170 400 (335|370 |320(410|370
B 270|180 | 280 | 200|350 (330|380 | 340
C 280|210 350|310 | 250|200 | 250 | 200
D 320(250(340|290|280|180|280| 240
E 325|(275(370|315|320|170|265|190
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Which item has the minimum average items or all quarters? .
ﬁ?aama?ﬁapaﬂaﬁ'ﬂﬁnaﬂiﬁmﬁ?ﬁ.‘w 37 /_,_/;’
—— At

[Questlon ID = 2780][Question Description = S2_qSNz_PG_GP40_Q05] ’b/
V/ H Wi
EEtlyn{ 11117] @ ™ A@
[Optlon ID = 11118] /_03/ /
//
[Option ID = 11119]
4. E b

7
[Option ID = 11120]

Topic:- GP40_D4_SH1_SET2_B

1) The interactive content in modern books may comtain a two-dimensional code (2D pattern of dark rectangles) called QR
codes. What is the full form of QR?

—_—

snggford gadaml d sre=ilet fapan siadyq d QR meomar® [GarRimedl e (wra smridl @1 2D tesf) 2 srd & QR @1 guf vu @ 8 ?

[Question ID = 2781][Question Description = S2_qSNz_PG_GP40_Q06]
1. Quality Reader/aaferct sz

[Option ID = 11121]

2. Quick Response/frad Ui
[Option ID = 11122]

3. Quality Record/aanferct 3ais

[Option ID = 11123]
4. Quick Router/feras ascz
[Option ID = 11124]
2) Arrange the given objectives for cognitive domain in hierarchical order as the basis of the complexity of the task
A. Application \/ rb\“m
B. Evaluation )(.,\}w“ﬂ&

C. Knowledge

D. Analysis

E. Synthesis

Choose the correct answer from the options given below

JsTIolica® 8 @ foaifeiRaa 329l ®t wrRI &I sIfecrar @ smenR ur ucAuIfers @ 3 saaf¥erd bt :
A. siqyeiier ./ o

B. gcativar /
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[Question ID = 2782][Question Description = S2_qSNz_PG_GP40_Q07]
1. AJE, B, D, C

[Option ID = 11125]
2. B,D,C,E A

[Option ID = 11127]
4. D,B,C A E

[Option ID = 11128]

3) Given below are two statements

Statement I: Working memory has a development trajectory- it increases throughout childhood and it decreases on ageing

Statement Il: Working memory does not get adversely affected by ongoin

In light of the above statements, choose the most appropriate answer from the options given below

oY 3 werer Ru 1w 3 : \ -5 \/ So ¥

@l - | © orivfia rgfer o1 faoricas ud 8iar 3 533 arcamIa A gl Sidl 3 siiv 3Ry a0l a AT AB Tedl 3

weiol - || : wriefter Ffer uz Fad gara o1 yfre gura ol usar 2 L
—_— —_

SWRI DUl D 3l 3, ofid v sre fmeul 3 A AT WP IaR DI RI6l DI

[Question ID = 2783][Question Description = S2_qSNz_PG_GP40_Q08]
1. Both Statement | and Statement Il are correct/erer | 3iiz |1 Qrait 31t &

[Option ID = 11129]
2. Both Statement | and Statement Il are incorrect/aerer | 32 || Sl srcta 3

[Option ID = 11130]
3. Statement | is correct but Statement Il is incorrect/mert | 2l €, fvoq @ewel |l s &
—_—
[Option ID = 11131]
4. Statement | is incorrect but Statement Il is correct/@err | srer &, fbog @erat || 31t &

[Option ID = 11132]

4) Choice Based Credit System allows students to choose which of the following?
A. Interdisciplinary/

B. Intradisciplinary /

C. Skill-oriented papers /
D. Open-book examinations

E. Cataloguing services

Choose the correct answer from the options given below:

frepeu smenf¥a @ fSeyurcht feenteii o1 forgorfciRaa gotor & siopafer St 3 :

A. siafferit

B. sie:fererit

C. olore Jogz TR

D. 5> graw uden

E. fizor Jamc

ofi o s1u fwedl & A A8 3R @I wRI6l BT :

[Qugstion ID = 2784][Question Description = S2_qSNz_PG_GP40_Q09]
1. /A, B and C only/@ae A, B aiiz C

[Option ID = 11133]
2. B, C and D only/daa B, C aie D

[Option ID = 11134]
3. C,DandE only/aaa C, D siz E

[Option ID = 11135]
4. A,Dand E only/a@ac A, D siR E
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[Option ID = 11136]

5) Match List | with List Il

List | List Il

Information Processing Model Developer

IA. Inductive thinking I. Hilda Taba

B. Mnemonics Il. Michael Pressley
C. Advance Organisers |III. Bill Gordon

D. Synetics |IV. David Ausubel

Choose the correct answer from the options given below:

et -1 Bt 3t -1l 3 AR B :

e -1 et -1l
(eTort gizp2vT dHiser) (Rrepr1 @ar)
A, PEGICHD A Al Best aar
B. ¥gfer fersior // }H»arm@wﬁ
C. sy oo Mﬁmsﬁsﬂ
D. = Fanenst &t yaoicas Riftr (Rraiast) Nﬂ/éﬁga{r{@a

v

offa feu ore freul 3 A &) 3a= gfere :

[Question ID = 2785][Question Description = S2_qSNz_PG_GP40_Q10]
1. A-ll,B-1,C-ll,D-IV

[Option ID = 11137]
2. A-l,B-1l,C-IV,D-l

[Option ID = 11138]
3. A, B-IV,C-lll,D-l

[Option ID = 11139]
4. A-IV,B-lll,C-l1,D-ll

[Option ID = 11140]

6) Scientists should put aside, their personal beliefs and biases and see the world as it "really” is. Which one of the following
philosophical positions supports the above statement?

smforet ot sruol forsht farearil silz smPJEl B U 3 @2 gform ot 33 &t Sxaon wfde izl aF A2 fororfeiRaa 3 A olor 2t crefform
sraf¥erfer IURD ool I Heler dxdl 3 ? I Dm)\«
—

[Question ID = 2786][Question Description = S2_qSNz_PG_GP40_Q11]
1. Constructivism/aeiarg

[Option ID = 11141]
2. Inductivism/ smemEolcadsdIdiG

[Option ID = 1114
Positivism/grIgmarg

[Option ID = 11143]
4. Post-positivism/3R - geagiag

[Option ID = 11144]

7) Which of the following are the characteristics of a strong hypothesis?
A. Adequate for its purpose o
B. Potentially testable

C. Presently testable

D. Better than its rival hypothesis

E. Unrelated to the theory

Choose the correct answer from the options given below:

HIRD Yraaseuoll ot forgatfeiRaa fafdrsears 3 :

A. 3rual 3o @ fere uaiy

B. ssnfda wu 3y udteor Asa

C. adure 3 udigor A

D. siueht gferuelf grameust A daaz
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E. RBrgia A sriag
ofia f3u a1u faaseul 3 A I8 IR DI TR BRI

[Question ID = 2787][Question Description = S2_qSNz_PG_GP40_Q12]
1. A, Band C only/aaea A, B aiiz C

[Option ID = 11145]
2. A, Cand D only/daer A, C aie D.

[Option ID = 11146]
3. B, D and E only/d@aec B, D iz E

[Option ID = 11147]
4. C,Dand Eonly/a@aa C, D siz E

[Option ID = 11148]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Causal relationship between the independent variable and the dependent variable cannot be established
beyond doubt, if the researcher fails to control the conditions.

Reason R: A set of confounding variables are likely to influence the value of the dependent variable, if they are not
controlled by the researcher.

In light of the above statements, choose the most appropriate answer from the options given below

ofid ot Pl fGu s1e 3 @ U sifdrerst (Assertion A) @ ¥u 3 3R eI 3 PRI (Reason R) @ »u 3 :

aifbrerst (A) : mamazaﬁ:snf@mma‘:mmzidﬂﬁszhﬁaﬁﬁfmmm%aﬁeﬂm&e{ﬁiaﬁmﬁmm
3 fawer s8ar 3 - R

®RuT (R) : yIEI® Rl BT U Ac AMIA TR D Al DI PIIfAd B2 ADdI & IS Ioa INerpdl FRI forifea oél fipan sirar 3

SR Dol D Il #, ofld fGu famcdl 3 A 7 3a= &1 wRIel Hifsre :

[Question ID = 2788][Question Description = S2_qSNz_PG_GP40_Q13]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) g¥ail 21t & 3l (R), (A) &t 3t = 8

[Option ID = 11150]

3. Ais correcE but R is not correct/(A) @ 8 usoq (R) &t orét 8

[Option ID = 11151]
4. A'is not correct but R is correct/(A) @t =gt 8 weog (R) 1t 2

[Pption ID = 11149]
i/gzth A and R are correct but R is NOT the correct explanation of A/(A) sz (R) cleil 3@t & wog (R), (A) &I 3 R=n o8t 3

[Option ID = 11152]

9) Given below are two statements

Statement I: A moderating variable is a second independent variable that is included because it is believed to have a
significant contingent effect on the original independ\tyariable —

and dependent variable relationship.

Statement IlI: An extraneous variable may conceivably affect a given relationship between the independent variable and
the dependent variable. X

In light of the above statements, choose the correct answer from the options given below
SfiI St weret fw a1 3 ¢

Del - | : ulMfoRIEID GR v fGddia Fadq @R & PRI onfde v sRi @ aRIlfs Aol ST 3 b et Fadod @R, MY IR AdE R TADI
FETayul PR AD geIrd 8l ADI &

@l - |l : Fadoq @R
IWRTb Decil B 3l 3 fororfeiRaa faaeul 3 A 8t 30 o :

[Question ID = 2789][Question Description = S2_qSNz_PG_GP40_Q14]
1. Both,Statement | and Statement Il are true/aerat | 3iiz |l Sleil &8t &

[@ption ID = 11153]
oth Statement | and Statement Il are false/@erwr | 3iie | Glail stct &

[Option ID = 11154]
3. Statement | is true but Statement Il is false/wepr | zrig, fopoq el || sRIcT &

[Option ID = 11155]
4. Statement | is false but Statement Il is true/@emt | sRIcT 8, fbog werer | 31T &

[Option ID = 11156]

10) Match List | with List Il
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List | List Il
A. Grounded Theory~__ - P éltheid%

B. Critical discourse analM{lQEoucauh

N
C. Thematic analysis A laser and Strauss
D. Ethnographic conterﬁ analysis Q Braun and Clarke

Please Like Share & Subscribe-Easy Notes 4u Online Study

Choose the correct answer from the options given below:

IgEht -1 ot g -1l A Fafera Hifsie

et -1 il
A. senfye Rrgia T Lweds
B. wafigircaa faaref farecswor \ . st

C. wear Rscvaur /\ . s s e
D. nfir sirkeg Rudwwor 7 V. ot aftz qens

offa few ore faeul 3 A A&} 3a7 gfore :

[Question ID = 2790][Question Description = S2_qSNz_PG_GP40_Q15]
1. A-ll,B-IV,C-1,D-l

[Option ID = 11157]
2. A-1,B-lIl,C-IV,D-Il

[Option ID = 11158]
3. A-1,B-Il,C-IV,D-l \>(

C-IV,D-I

)

4(A ,B-ll

[Option ID = 11160]

11) Which one of the following makes communication ineffective?

mﬁamma@mmﬁ?

[Question ID = 2791][Question Description = S2_qSNz_PG_GP40_Q16]
1. Clarity/>uscar

[Option ID = 11161]
2. Ambiguity/ srotmrefasar

[Option ID = 11162]
3. Brevity/3ifdraar

[Option ID = 11163]
4. Sincerity/foroserar

[Option ID = 11164] _ _
Please Like Share & Subscribe-Easy Notes 4u Online Study

12) Which one of the following is not a barrier variable in communication?

Jquur # foroiferRaa 3 3 Pl T ERILD IR oidl & ?

[Question ID = 2792][Question Description = S2_qSNz_PG_GP40_Q17]
1. Culture/3zafer

[Option ID = 11166
2( Eye-contact/ag] - 3u®

[Option ID = 11167]
3. Curiosity/3mj®mar

[Option ID = 11168]
4. Climate/Sierary

[Option ID = 11165]

13) A communication scenario in which two teachers are debating about the curriculum for the 215t century, is an instance
of:

A1 AYHUT ufseed forgaiferRaa 3 31 fpamI Ic162u1 & SR 31 sreamam 21 df A<t 3q urgarart @ Jder 3 96 B W 8 ?

[Question ID = 2793][Question Description = S2_qSNz_PG_GP40_Q18]
1. Group Communication/ g iquur

[Option ID = 11169]
2({ Interpersonal Communication/siaﬁaﬁm@

[Option ID = TT170]
3. Lateral Communication/uifda 2iguur

[Option ID = 11171]
4. Diagonal Communication/fasuf 2iguur
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[Option ID = 11172]

14) In which one of the following types of communication, the data is pushed from a server to a client without client

request?
forrarferRaa & A fop1 YR @ AYuuT 3 GRIPT D 3R @ Yo 8 2rdz A YAIn! a® od (Sier) add & sirar 3
[Question ID = 2794][Question Description = S2_qSNz_PG_GP40_Q19]

1. Pull Technology/dfderr (get) GlelifSrhbt

[Option ID = 11173]
2. Education Technology/fsrem gienfsrht

[Option ID = 11174]
3. Push Technology/ erdetar (gor)

[Option ID = 11175]
4. Ancient Technology/yrior lelifSrcht

[Option ID = 11176]
Please Like Share & Subscribe-Easy Notes 4u Online Study

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Active participation of all students in a classroom is an indicator of the teachers' communication skills.

Reason R: Teachers should focus more on classroom management (as discipline matters) than instruction.
In light of the above statements, choose the correct answer from the options given below

il 3t werel fRu s1e 3@ uep sifdraperet (Assertion A) @ %u 3 iz ¢RI 3@ BRI (Reason R) & wu 3 :

sifSreperet (A) : e 3 il frenlRRIl &6l Afepa AsfPar sieaad @ AYHI BIIeT DI JaD 3

@RI (R) 1 srearuc! @Y oIS 9ll & FeUTel UR el Yderol (I srelonRiel JAdefl fert) uz wiwa wen aifde

SWwRI Decll & rclld 3, o fu sre fmeul 3 A 8l IR @I T HIfdIL @ ;

[Question ID = 2795][Question Description = S2_qSNz_PG_GP40_Q20]
1. Both A and R are true and R is the correct explanation of A/(A) siiz (R) @laii 31 3 32 (R), (A) &t 38 wimen 3

[Option ID = 11177]
2. Both A and R are true but R is NOT the correct explanation of A/ (A) 3l (R) glail 31 & waq (R), (A) &t A& areen ot 8

[Option ID = 11178]

3. Ais true but R is false/(A) 3= 3, useg (R) Gmﬁ\ly
[Option ID = 11179]

4. Ais false but R is true/(A) sricar 8, woq (R) 21 3

[Option ID = 11180]

16) What comes next in the following sequence?

124 85— *a -\b
2 67187547 w3 T
foreatferiRaa srofaza 3 31rel TR 3ar 3 ?

1 2 4 8§

_,_I _I _l '?

2 67 18" 54

[Question ID = 2796][Question Description = S2_qSNz_PG_GP40_Q21]
1. 10/108

[Option ID = 11181]
2. 24/108

ion ID = 11182]
7 16/162

[Option ID = 11183]
4. 16/106

[Option ID = 11184]
Please Like Share & Subscribe-Easy Notes 4u Online Study
17) Given below are two statements o q @ - Q

Statement I: The product of all the digits on the dial of a telephone is 15840.

Statement Il: At 10% interest rate, Rs 10000 will become Rs. 13310 in 3 years, when interest is compounded annually.
In light of the above statements, choose the correct answer from the options given below

ofi <Y el Ru are 3 : e WHIETSRARS b (‘-N\'W%j"g

D - | : Ed’mﬁafbsmammﬁsiaﬁaﬁgmauﬁ\lﬁ 158403 é@

doal - |l : 10% st 2 uz 10000 9= 3 ad 3 13310 3uA 3l Susl ol &1l aiftfas »u A FRNfSIa Sy
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SWTe DUl B 3IIcilP 3, ofid fu s1u freul 3 A A8l IR DI wRol DHIfST © \.3;5'5\‘\., ,P k\,\—\w\

[Question ID = 2797][Question Description = S2_qSNz_PG_GP40_Q22] P
1. Both Statement | and Statement Il are true/ermwr | i || Sloli 3 & \'53\“ l \

[Option ID = 11185]
2. Both Statement | and Statement Il are false/aerer | iz || Geil sricer &

[Option ID = 11186]
3. Statement | is true but Statement Il is false/@ermer | a1 8, fpoq et M sricr 8

[Option ID = 11187]
4. Statement | is false but Statement Il is true/a@erwr | srica 3, weret || e 3

[Option ID = 11188]

18) Consider the following fractions:

A. 8/9 %l"\ %'7‘\’—9,;3,@0\/

B. 911~ o QG

C.2/3 = a-LLy A>@>>D7c>g
D.7/9- o« V1

E.7/11- @ 630
- —
Which of the following is the correct decreasing sequence?

forgoiferRad fireor Uz faar Hifse :

A. 8/9
B. 9/11
C.2/3
D. 7/9
E. 7/11
il fou s1u frapeul 3 A & IR BT a6l HIfSIE ©

[Question ID = 2798][Question Description = S2_qSNz_PG_GP40_Q23]
1. B>A>D>E>C

Opti =11189]
. A>B>D>C>E

[Option ID = 11190]
3. A>B>C>E>D

[Option ID = 11191]
4. B>A>C>E>D

[Option ID = 11192]

The angle made by the minute hand of a clock while moving from 4:40 pm to 6:10 pm is

uﬁﬁﬁmﬁgﬁm440@@rﬁsmrg610a@ld§t3ﬂisﬂaa}aﬁamaﬂmwﬁj\g,'u\

—

[Question ID = 2799][Question Description = S2_qSNz_PG_GP40_Q24] 9\

1. 450° ) - _G,. 1tolo /] /
X iOition ID = 11193] O :_ﬁf"/‘ _— . )
[Option ID = 11194] 96 \‘“‘Z 6 _— Pﬁ% %’

3. 490°
[Option ID = 11195] UMO= Slgp= 2ot N‘k
4. 610° ¥ — (06 - lom Q ?f’/
[Option ID = 11196] C— (= \am . O“
D\ﬂ(“\*("

20) A vendor allows a discount of 16% to his customers and still gains 20%. The marked price of an item, which costs the
vendor ¥ 11900, is I I

o faBarsol sfiedl @1 16% @1 Jg1 (Bedse) 3 3R fib2 9ft 20% cmer 3ifola w2an 3 farpart sit ¥ 11900 Ay Bkt 3, 3 @I

sifdpet gca 3 - - —
Question ID = 2800][Question Description = S2_qSNz_PG_GP40_Q25] \D kb /
frms Ve of

0o
[Option ID = 11197] cf

2. %15?00 ,_uOJ

[Option ID = 11198]

W

-
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3. 16800
| \oo¥ P\ - waBo |\t S
[Option ID = 11199] ¢.¢ Y - / \‘\A'L%'
4. 314800 —= T \® v \b = 2 \wib 9
[Option ID = 11200] / (v S0
7‘*’\’ o
L with Lt gun \\* 7
21) Match List | with List Il (b\)\
£ Vo r\‘q \\
List | Vv List I / -\
Functions of Language _  [Examples = \’\6'0
A. Directive Function \ I./That's too bad.

B. Expressive Function >6HI. | apologise.
C. Informative Function \[\ill. Close the window.

D. Performative Functionl\IV. New Delhi is the capital of India.

Please Like Share & Subscribe-Easy Notes 4u Online Study

Choose the correct answer from the options given below:

Ikt -1 ot gt -1l 3 Fafera Hifsie

el -1 el Il
(#1reT B yeprf) (3c1820T)

A. fordoncae gorl \ |. a5 gga ¥R1a 3

B. sifSiciftpuzas yaort Jyﬁanninam§

C. Jaonca® gort )Qlﬂk.ﬁa’{cﬁézﬂiia

D. forcurcel ywrt ]\lﬂlaéﬁwﬂm?ﬁmmaﬁ%

oftdl e a1e fscul 3 A w18} sar gfere ©

[Question ID = 2801][Question Description = S2_qSNz_PG_GP40_Q26]
1. A-ll,B-Ill,C-l,D-IV

[Option ID = 11201]

2. A-III,B-I,C-IV,D-II\/
[Option ID = 11202]

3. A-ll,B-l,C-IV,D-ll

[Option ID = 11203]
4. A-Il,B-IV,C-Il,D-I

[Option ID = 11204]

22) ldentify the fallacy committed in the argument: "Since all humans are mortal, the human race must some day come to
an end".

forgorferRaa 3 aas Sy bl usarer Hifsrg :

.l
"dfe st HoIRI o1 &, a1 ueb f3ol HArera Sufer srag A B Seett

[Question ID = 2802][Question Description = S2_qSNz_PG_GP40_Q27]
1. Fallacy of Amphiboly/ara=r se

[Option ID = 11205]

2. Fallacy of Composition/3is aia
[Option ID = 11206]

3. Fallacy of Division/fdsfs gl

[Option ID = 11207]
4. Fallacy of Converse Accident/3uifd - ®RIRRI - Slw

[Option ID = 11208]

23) Identify the fallacy committed in the argument

- — &)y
Some spaniels are not good hunters.
All spaniels are gentle dogs.

Therefore, no gentle dogs are good hunters.

forgotferi3ad 3 aaseiy bl usdrel dIfSIT : E
@B FUforIc 3r<d PRl o1dl 8l 3 \/

il FUforret onia (Sieet) @ ald 3
31e:, oI oft oriT Gz 3T OB o1l ke &

[Question ID = 2803][Question Description = S2_qSNz_PG_GP40_Q28]
1. Fallacy of Exclusive Premises/cradd smenfsar gra @ —
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[Option ID = 11209]
2. Fallacy of Illicit Major/sreard - 3meer - g

[Option ID = 11210]
3. Fallacy of Illicit Minor/sreem - et -
[Option ID = 11211]

4. Fallacy of Four Terms/ar ug giw

[Option ID = 11212]

24) Which of the following pramanas are accepted by the Nyaya School?

A. Pratyaksa

B. Anumana

C. Upamana

D. Sabda

E. Arthapatti

Choose the correct answer from the options given below:
IR far ugfer 3 foreieilRaa 3 A ®ier A ygmr e 3 ?
Agragr o

B. st |7

C. suarer

D. orec /

E. srerfufer

ofid 3w a1 fwseal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 2804][Question Description = S2_qSNz_PG_GP40_Q29]
1. A, Band D only/@aet A, B 3iiz D

[Option ID = 11213]
2. A, B and C only/daer A, B iz C

[Option ID = 11214]
3.ﬁ?and D only/daer A, B, C a@
[Option ID = 11215]
4. A, B, DandE only/dact A, B, D sik E

[Option ID = 11216]
25) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : According to the Nyaya system, the argument "Sound is quality because it is visible is fallacious.”

Reason R: It commits the fallacy of Svarupasidhha.

FI)qulagﬁte oI" l:hg a%pvaersa(%er%gn ss,q:ﬂgoes_el'_tﬁes Xrol\sltp gggrc%“rlia er’] laipsgvesrtflf'lcgrx the options given below
ofl 3l erel fRu sre 3@ uep sifdraperst (Assertion A) @ u 3 iz ¢RI 3@ PRYT (Reason R) & »u 3 :
sifdreperet (A) : s gurrel @ eIz, "wﬁw@mwm%" Sreguf

@RI (R) :  ¥8 ¥a=eu 3fR1g Sy 3\/

JURITD deoil d 3IIclid i, aﬂa%;a\;ﬁﬁﬁnﬁmﬂmmq :

[Question ID = 2805][Question Description = S2_qSNz_PG_GP40_Q30]
1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cieil 38t 3 3l (R), (A) &t 3 =z &

[Option ID = 11217]
2. Both A and R are correct but R is NOT the correct explanation of A/fA) siiz (R) @il 21t 3 uzaq (R), (A) B 2l e ot 3

[Option ID = 11218]
3. Ais correct but R is not correct/(A) 3@ @ uw3sq (R) &t o1dt

[Option ID = 11219]
4. Ais not correct but R is correct/(A) 3@t o8l 8 udoq (R) &t 3

[Option ID = 11220]

26) What type of non-volatile memory would most likely store firmware, like a computer's BIOS?

PRI D ol 3F 3N TA S BIHRR B forafeiRaa 3 A e yor & 31? - cugfia F sisr 3 3 Srar 6 Aaiferes FHsmae 3 ?
S ————————

[Question ID = 2806][Question Description = S2_qSNz_PG_GP40_Q31]
1. RAM/3mR v ea
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[Option ID = 11221]
2. EEPROM/$ ¢ i aR 3l vt

[Option ID = 11222]
3. Hard Disk/arS 3z

[Option ID = 11223]
4. Tape Drive/2u gisa

[Option ID = 11224]

27) Identify the correct sequence of the following storage devices in the descending order of their emergence.

A.DVD —) T
B. CD-ROM () @
C. Magnetic Tape() /
D. Floppy Disk @

Choose the correct answer from the options given below

forgsiferRa sisRUI ATerell D IgA D RIS RAHIGRIR Al ol bl usars bifSe :

A.STa$

B. 3t & - 3= ol wa

C. dwaitw 2a

D. wardi 37w

ofi o s1u faseal & A A8 IR BT wRI6l BT :

[Question ID = 2807][Question Description = S2_qSNz_PG_GP40_Q32]

1. B,A, D, C

[Option ID = 11225]
2. A,B,C,D

[Option ID = 11226]
3. ALC,D,B

[Option ID = 11227]
4. A,B,D,C /
—_—

[Option ID = 11228]

28) Given below are two statements

Statement | : 'Twitter’ is a microblogging site that is very restricted on the size of the post. \/

Statement Il : 'Wiki' allows readers to edit posts, and entries in it are usually not in chronological orti7/.

In light of the above statements, choose the correct answer from the options given below

Jerrsel & Jder # of 31 weret Ru s 3 :

@ - | : 'Rac?’ v asqieenf3ier Arse 3 Sl GlpI Gl ulke @ PR D ar 3 safere Hfia 3

@l - |l @ "fabl’ sruel urewl @I UlRe AUl mol DI eIAfe Sl & 31 s YfAfSeRai ATHTRIRIT DICIRATRIR oldl Blcil 3

SRt sl o airclid 3, oifa fu s1e fawmeul 3 A JE 3R @I a6l HifSIe

[Question ID = 2808][Question Description = S2_qSNz_PG_GP40_Q33]
1. Both Statement | and Statement Il are true/erer | iz |1 Qi a\aﬁ/

[Option ID = 11229]
2. Both Statement | and Statement Il are false/aerwor | iz 1l Slail 3RIcT &

[Option ID = 11230]
3. Statement | is true but Statement Il is false/@epr | 3= &, fboq @eet |l 3R &

[Option ID = 11231]
4. Statement | is false but Statement Il is true/@emr | sRIeT 8, fbog @erer | 3T &

[Option ID = 11232]

29) With respect to computer storage devices, which of the following is/are magnetic storage device(s)?

A. CD-R
B. DVD-RW

C. Flash memory stick

. External Hard Drive

Choose the correct answer from the options given below:
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PRIC HSRUI Aterell B Ader i, fororfciRaa 3 A Blal - Plal Avolfed sisrRUT AMer0T 3 ?
A M1 - R

B. S 4t 31 - 3R Secy

C. wdior 3 Rea
e
ofiY f3U a1 fameul d A A8l Iaz B oRIel HIfSIU

[Question ID = 2809][Question Description = S2_qSNz_PG_GP40_Q34]
1. Conly/aaea C

Option ID = 11233]
2./ D only/d>ae D

[Option ID = 11234]
3. Cand D only/@qa C ik D

[Option ID = 11235]
4. Aand B only/dact A 3iiz B

[Option ID = 11236]

30) Match List | with List Il

List | Aistn 7

IMemory Devices [Memory Types

IA. Pen Drive |,.Optical memory

B. Hard Disk Ii~Flash Memory

C. CD ROM / \IN.I Magnetic Memory
D. RAM |IV. Volatile Memory

Choose the correct answer from the options given below:

et -1 Bt 23t -1l 3 AR B :

el I et 11
(Grenrst wero) (st yor)
A. So1 gIsa I geotofter Jraiist

B. aré R o vawams

C. 2Rt & oz ol ot —— |l actar it
D. 3R © g |IV. cilaofier At

offla e ore freul 3 A &) 3a7 gfere :

i = Question Description = S2_qSNz_PG_GP40_Q35]
1 A-ll,B-I,C-I,D-IV

[Option ID = 11237]
2. A-ll,B-Il,C-1,D-IV

[Option ID = 11238]
3. A, B-Il,C-IV,D-l

[Option ID = 11239]
4. A-IV,B-lll,,C-lIl,D-I

[Option ID = 11240]

31) Given below are two statements

Statement I: Oxidative stress is an imbalance between accumulation of oxygen reactive substances and ability of body to
destroy them. ———————

Statement Il: Oxidative stress is significantly lowered by the presence of oxidants.

In light of the above statements, choose the correct answer from the options given below

offr <r Statement Re sre 3 :
Statement I:  srafiayd gara snazdlstor Afparcad ucrf @ 33 308 ofte ol DI 9RIR bl grarar @ i sRidcTel 3
Statement II: sma=fia cara sia=fiasd &t uf¥erfer & orbl wa 8 smar 3 %

SURID PBeoil @ 3Iciid H, ofid fou faascal 3 A Jd) 3az @1 wRIol HIfvIe -

[Question ID = 2811][Question Description = S2_qSNz_PG_GP40_Q36]
1. Both Statement | and Statement Il are true/Statement I 3iiz Statement II Glell 3T 3 3R Statement 11, Statement I &t 3@ wmen 3
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[Option ID = 11241]
2. Both Statement | and Statement Il are false/Statement I siiz Statement II cleil 31 & weoqg Statement II, Statement I & &t =men ot 8

ption ID = 11242]
3. /Statement | is true but Statement Il is false/Statement I =1 &, weog Statement II 3R &

[Option ID = 11243]
4. Statement | is false but Statement Il is true/Statement I sric &, wog Statement II =1 &

[Option ID = 11244]

32) What is gasohol?
SiAleic a=m 3 ?

[Question ID = 2812][Question Description = S2_qSNz_PG_GP40_Q37]
1. A type of chemical used for chemical remediation of waste water/3mufSre Sl @ RIRIf6ID IUAR D o180 YlsT b STiol dIell P YR Pl RARGT

[Option ID = 11245]
2. Aninstrument used to detect gas leakages in factories/®acf¥=ii 3 i1 ¥21a@ @1 uAr oot @ fore Yeiler fdpen Sirol arell vas 3udsauT

[Option ID = 11246]
3. Mixture of gasoline and ethanq!/ma 3T udoilel P AFAIYVD

[Option ID = 11247]
4. A type of chemical for the decomposition of stubbles/uzrcit (Icsqct) @ fdEcor @ o vb YR Bl ARG

P[Ioepztii%neml_:ilyeughare & Subscribe-Easy Notes 4u Online Study

\}3) The target year for achieving the Sustainable Development Goals is

JemuiiRa frr agal (v 3t sit) B yra ool oI cgy ad 3 :
e—

[Question ID = 2813][Question Description = S2_qSNz_PG_GP40_Q38]
1. 2020

[Option ID = 11249]
2. 2025

[Option ID = 11250]
(2030

[Option ID = 11251]
4. 2035

[Option ID = 11252]

34) Match List I with List Il W
)

List | List Il

Disaster Management Cycle Components [Explanation
Am I. Land-use planning
B. Preparedness _)& Il. Rescue

C. Recovery ><FH Risk assessment

D. Response M Construction

Choose the correct answer from the options given below:

Ikt -1 ot 3R -1l A Fafera Hifsie

= o .\r\f&v“
et -1 N4 et -l
(GaeT gaery ey daew) s (avor)
A. forarur |. 91 SURIIT ASTol

B. drerst — ~_ P

C. gorscerst Wm. Shifaar smaseter

D. grgz /. Brtor

offd v a1w fascul 3 A A1) 3ar gfere ©

[Question ID = 2814][Question Description = S2_qSNz_PG_GP40_Q39]
1. A-ll,B-l,C-ll,D-IV

Option ID = 11253]
28 AL, B-1,C-IV,D-l

[Option ID = 11254]
3. A-1,B-lIl,C-ll,D-IV

[Option ID = 11255]
4. A-1,B-Il,C-IV,D-I
[Option ID = 11256]
Please Like Share & Subscribe-Easy Notes 4u Online Study
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35) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The decibel level for a given loudness may be different at different frequencies in the audible range.

Reason R:  The human ear has a differential frequency response.

In light of the above statements, choose the correct answer from the options given below

il St werel f3u s1e 3¢ uap sifdraperst (Assertion A) @ %u 3 iz ¢RI 3@ PRYT (Reason R) & wu 3 :
siféresert (A) : yga eafor gaerar @ fere oferar uzrt 3 oot firoot sngferil vz gpearar (3lec) = Moot 3 wrwar 3
®RuT (R) :  Jmora @vof @1 fagicd sngfer yoger akar 8 -

SR werl & acile 3, A Re Rioedt 3 3 38 sa2 o1 aiol SR :

[Question ID = 2815][Question Description = S2_qSNz_PG_GP40_Q40]
1. Both A and R are true and R is the correct explanation of\y(A) 3z (R) aloll 3 3 3z (R), (A) 6 & wemeeen 8

[Option ID = 11257]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3l (R) gleil 3= & wag (R), (A) &t 3d =ren ot 8

[Option ID = 11258]
3. Ais true but R is false/(A) 3= 8, uvsqg (R) 31 3

[Option ID = 11259]
4. Ais false but R is true/(A) sricr 8, wzoq (R) 2 3

[Option ID = 11260]

36) For reservation of the socially disadvantaged sections, the ceiling fixed by the Supreme Court of India is-

AT U A Ffendiia daml & fore 3megvr o JHder d HRA @ Iadd AR GRI forerif¥a siférast e 3 :

Pn——
[Question ID = 2816][Question Description = SZ_qSttfz_PG_GP40_Q41]
1. 28%

[Option ID = 11261]
2. 40%

[Option ID = 11262]
|

[Option ID = 11263]
4. 55%

[Option ID = 11264]

37) Which of the following is termed as the Magna Carta of English Education in India.

forearferRaa 3 A1 s s 3 siv)shl forg 1 HBIfRIPR - uq sl Sirr 3 ?
—

[Question ID = 2817][Question Description = S2_qSNz_PG_GP40_Q42]
1. Elphinstone's minute/vféwzcar wriqa

[Option ID = 11265]
2. Macaulay's minute/d®rcl drRiga

[Option ID = 11266]
3. Wardha education scheme/qzf fdtgm Ravar

Option ID = 11267]

[
4.vmﬂmﬁmﬁﬁ(@—z@

[Option ID = 11268]
P o W QQO—]J\ plo LAA” QJ/‘ W)@

38) According to the Indian Constitution, some fundamental rights of the citizens can be suspended during

HIRARI Jfdener & RIR SIPIG] & T Hcrd ARIPRI Bl fororfeiRaa 3 A fpad e forcifda s s arwar 3 ?
[Question ID = 2818][Question Description = S2_qSNz_PG_GP40_Q43]

1. National disasters/2kr smuat \D
[Option ID = 11269] E U

2. National emergency/3reckr amura Rerfer
J ‘3‘

[Option ID = 11270]
3. Financial emergency/ farfler smura Berfer

[Option ID = 11271] \/

4. National elections/ e forafaet
[Option ID = 11272]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The complexity of the social context in which higher education exists in India, very likely, makes
systemic reforms impossible
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Reason R: The inadequacy of infrastructure and the attitude of the academic community to prefer status quo than taking
risks, with experiments and innovation that

require initiative and considerable efforts, are the principal impediments.

In light of the above statements, choose the most appropriate answer from the options given below

il Q1 perol feu a1w 31 uop sifdraserat (Assertion A) & wu 3 3ii? ¢RI 3AD BRYT (Reason R) & wu 3 :
sifdrperet (A) @ URA 3 I 19181 DI fdepiear & ARNRIe HcH! bl sifecrar Asada: YuIrell 31 JERI Pl 3RING ol Sl &
@Rl (R) : ORI ra=iaet 3R APGHID MASRI SRI AT 3R oidicl uikadsll oI SlIRadl 3oTol dl T6IRI, dRIIf 3313 Usd 3R BIbl gARIl oI
AADI 3, Al-FFeufer @1 sifeEierar Sor yemet
3reRIer &
SURITS el B 3MIclid #, ofi fGu el 3 A I IR BT TR DI :

[Question ID = 2819][Question Description = S2_qSNz_PG_GP40_Q44]
1. Bogh A and R are correct and R is the correct explanation of A/(A) iz (R) gl 21t 8 8l (R), (A) &t 3t = 8

[Option ID = 11273]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) clail 38t 3 woq (R), (A) 6l 3t Rz ot &

[Option ID = 11274]
3. Ais correct but R is not correct/(A) 3@ 8 ussq (R) &t o1dt 3

[Option ID = 11275]
4. A'is not correct but R is correct/(A) @t st 8 wog (R) 1t 2

[Option ID = 11276]

40) Given below are two statements

Statement I: Education for sustainable development has to be related to the process of taking decisions pertaining to
economy, politics and natural environment

Statement Il: Inviting senior citizens to schools and allowing them to speak on the environment of their childhood, may help
in developing a concept of sustainable development

In light of the above statements, elioose the most appropriate answer from the options given below

ofla of @eret feu a1e 3 ¢

@el - | 1 HemRviRa [rrT @ fere forem ol srefcaazen, sweiifa siiz grafae uiazur A« forvi ciol &1 yfipan 1 ey slol &
@Yol - || : afeso oIyl ol freneril 3 i Dol 3R 368 3Uoil drcaraen @5 WRITaRUI @ a1 3 dictol DI 3rofdfel Sol A ALMRVIRI fdprRT bf

sraeRunl faeR1a ool d JsrIar 3t Aodl 3

SURTP Doll B 3Ielld 3, ofi<l U 318 fapeul 3 A ATA IUYTP IR DI W6l DIfSIE
[Question ID = 2820][Question Description = S2_qSNz_PG_GP40_Q45]

1. Both Statement | and Statem\en}vare correct/wmerer | sz |1 Qolt 218t &

[Option ID = 11277]
2. Both Statement | and Statement Il are incorrect/aerer | 3ii2 || Sl srcta 3

[Option ID = 11278]
3. Statement | is correct but Statement Il is incorrect/mert | 2@l €, fboq el |l s &

[Option ID = 11279]
4. Statement | is incorrect but Statement Il is correct/@err | srer &, fpog @erer || 3@t &

[Option ID = 11280]
Please Like Share & Subscribe-Easy Notes 4u Online Study

Topic:- GP40_D4_SH1_SET2_C

1) Read the given passage and answer the following question.

Leaders in powerful positions once thought workers should be told what to do and how to do it. They believed strict control was
needed for the organization to function efficiently and effectively fixed organizational hierarchies, structured jobs and work
processes and detailed procedures, let everyone know that those at the top had power and those at the bottom had none.

Today, the old views of the distribution of power are no longer valid. An emphasis on control serves to squelch motivation, innovation
and morale, rather than produce desired results. Today’s leaders share power rather than hoard it. They find ways to increase an

organization’s brain power by getting everyone involved and committed.

oiid fu srerior @1 ufeu iz gest oI a2 S -

orfeporrefl uct Ur IS oI B AR A D A > R DY Ae FARN Siell e > d R @3 3hiz DA I IorwT frart e b Rpit FeTeor @1 @t 3iiz gairdl @1 A aetiol
@ ferg w31 foriqur 158l & foiftaa Aersferm Iuit ow, JlRa ori-ur 3iiz TRl gikpne iz Rirga uglern 83 @) gar il o e Uz I3 vl @ urT arpd 3 i oflA arcl &
urd @B ol ol 3

orfep ferarur @ A yrel effemIvr arret der o1dl 3@ e § foriquT Uz Sk ol A difsa ulvie frwcrol &1 asme Yzun, sra ufyador siiz Asiiae dyac SIAr 3 36T @ oldl 91D ST Dol
&l TeI1T A AT B 3 A YAD afep ot onfdrer 3R Yferag 1 a2 016l D difgd acT DY aGTol D IURI GG 3 $ADT U BRYI Al A6 & b st & sreforazen, 31fdr, srast
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3iiz refieil b sitferes ufkeiuferil &Y asig, aga aslt & arer ol uz smenfyda Sl sn @ & g Isa A 50 ad gd A ulrdufern asor a5 Sie-ferdl fororal b ayer snf¥cril w1
73% 2t et ad 2002 ao Az GUIA dc B2 BRI 53 yferord 2l sri iz il off A1 BrIac sl 3 3101 31ef 3 fop Scurget @1 rafits oR® Arordl Siet 3 il dafanf¥il
&1 oIftp B dod1 3 3FSIDT 32 3o RIpRia ol 3 wafanf¥il o e 3iiz wiorc Faz & oft feKT si® corml d Aad afy; € 3 sId caltp ara VA AHsrool 3 BRI B A Jgee
o181 3 St 368 yreficrdt sii? fwet @1 srar? orél Sar 3

S aa el Jierea @ yfafdar 8 e aAofier acor @ e arsigz 6l srsed oft, uruf¥e e er sk foriqur &t =rared srcefl avs A ©RI ©2 Wl ol woq eTocll @1 wfafRil &
ot 1 DI et o1&l frerar e 3irsT AAwerar Asfl watanf¥il & difge gerar uz oz wxdl 3 3R ordrsil Bl $3 BoR sbld BT A B & ; MU SHRCI 3R Aoflcll o1
FaIfdrea 8 ADd 3; FATGI D ordl

Which one of the following reflects the traditional conceptualization of leader?
foraiferRaa 3 ¥ wlar ofar o1 uRulR® AYcrRitaur gferfdfeaa oar 3 ?

[Question ID = 2821][Question Description = S2_qSNz_PG_GP40_Q46] \/
1. Shares power with employees/asfanfseil & el 9ifep ST B2ol

v

[Option ID = 11281] PN \\l

2. Commands and controls employees/wafaif¥ii @ fere Jercer a foriqur ‘) D\’

—
[Option ID = 11282]

3. Creates opportunities for learning for employees/@sfaifsii @ fero fiol & sra=R JfSIA Dol
[Option ID = 11283]

4. Uses employees' knowledge/@saif¥=ii @ sirel ®I gRiler

[Option ID = 11284]

2) Read the given passage and answer the following question.

Leaders in powerful positions once thought workers should be told what to do and how to do it. They
believed strict control was needed for the organization to function efficiently and effectively fixed
organizational hierarchies, structured jobs and work processes and detailed procedures, let everyone know
that those at the top had power and those at the bottom had none.

Today, the old views of the distribution of power are no longer valid. An emphasis on control serves to squelch motivation, innovation
and morale, rather than produce desired results. Today’s leaders share power rather than hoard it. They find ways to increase an

organization’s brain power by getting everyone involved and committed.
ofiY feu srerion o ufeu iz yesl oI 3R ¢ :

orfeporcll ucl uz I3 oIdr Ud IRT Akl B A 6 watanf¥=il @) A6 aarn Sl aifde 6 d a=—m &3 iz DA B3 Iolad! faarT o 6 foszit
JHoT6eT I Gl 3R YHIL Gl A Tciiol B fore wsI orRiquT 158 3 foifkia isrefore vt @3, IRRIT PRI-UR 3iiz ®rI giigae sii firqga
ugferil 8%p @1 aar el oft 5 Huz I3 clisll & urRT dardpd 3 3R ofid arcll & url oo it odl &

oIftp faaRuT @ A grrol eftemlIvl 3iret der ol B 3w & foriquI U= SRR ol A difdsa ufeuna formerel 61 ssIT Yrum, ofa uf¥ade iR Hellee dqgeet
SIII 3 35T @ oldI 9IftP ST 2ol l TSIT IA AR DAl & d YRAD oAftp I INfdiet 3R Yferag 21 @2 IHd160l D dif.,gd dc Dl a6l D
JURI GG & $ADI TP DRYI dl As & b 3mel DI srefcaazen, yid, sdet iz siofiell oI sifer ufkziuftrIl &I sse, dga dsil & AT el R
smmenfya Axcft o 3@ & 2iges wsa i 50 adf gd A bt ot @ SRk Rl Bt we snfiaril o 73% axdt ot af 2002 aw u@s
3eUId T B2 cPBPRI 53 yferord 31 sri 3iiz 3l 3il a1 Prrac sidl 3 s1weT 31ef 3 b Icurca o1 Yreifires oR® AreIdi Siret 3 Sit aatanfyl &bt
oIftp DI 9ol 3 3RIEIDI 311?361 [ADRIA oIl 3 wafanl=il B eI iz wioret Far 3 91 P soIP germl 3 J1ad giy g8 3 sl afep s
QA o100l A DRI Dol A e oidl & Sl 368 HEliGRT 3z AHlwdel @I sraA? o1él Sar @

S ao fopil oo @I gfeifeer 8 #e arofier aciol @ e #sigy &l sived ofl, uruf*® ARSI 31 ORIGUT &l Iarent 38l ave A BRI B2 W
ofl uRoq JHe1oall Bl D=l o fCHIPT DI DIS <3l ofdl frerar e 3irst Awerdr Wsfl patanfIl &bf difge grerar uz forelz wxdl 3 siir ararsii ot
33 DOR FhIbd DI AT Bl & ; MU FARAI 312 Foficll D1 Faifdrca a1 JAbd 3; 3ol D oidl

An emphasis on control serves to enhance
AL ($)E)

[Question ID = 2822][Question Description = S2_qSNz_PG_GP40_Q47] %

1. Motivation, innovation and morale/Yzun, ora uf¥ader 3l Jeilaet af gfy aidt 8 @ _ \0
[Option ID = 11285] ’E’\/ Wq
2. Productivity and profit/3curcear siiz et 3 qig Sl 8 e
[Option ID = 11286] k'/ @
3. Demotivation and maintain status quo/adieie 3 gfg siie ren-Refer goft &t 2
[Option ID = 11287] o
4. Sharing of knowledge/sirel 13 @201 3 arft 3
[Option ID = 11288] &

3) Read the given passage and answer the following question.

Leaders in powerful positions once thought workers should be told what to do and how to do it. They believed strict control was needed for the
organization to function efficiently and effectively fixed organizational hierarchies, structured jobs and work processes and detailed procedures, let

everyone know that those at the top had power and those at the bottom had none.

Today, the old views of the distribution of power are no longer valid. An emphasis on control serves to squelch motivation, innovation and morale, rather

than produce desired results. Today’s leaders share power rather than hoard it. They find ways to increase an organization’s brain power by getting

everyone involved and committed.
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ofid féu srerior o ufgu 3R Yoot @1 3R & ©

orfeporreft uch uz 3 olar vas FHRI Al B A b dfanfRIl ®Y As FarN st afde 6 d a=r @3 3k DA B Iorw! faarT e > Rt Jsrcar w1 ayore sile Yardt da1 3 aetor
@ fére @t foriqur 58t & foiftaa iersfore IYuft g, JRRa BrRi-uR sk BRI gfpe sik g ughrIl 83 ot aar 3l oft 5 Fuz I3 el @ urt arpa 3 sii off arcl @
ura ¢ ol o8l 3

orfep fararur & A grret zfieapIur arreT d¢r oidl 23 s 3 foriquUT Uz Sk ot 2 qifdsa ufvvrmr forwerel &t asme Yzum, sta ufsadot siiv Fellact e SIIAT & 311ST @ oldr 9Ifth STalT
Dot Dl ToIT IA ATS B 3 A YAD =Aftp Dl onfdret 3R Yferag w2 w2 otool @ difgd acl B 96101 D IURI G 3 $ADI TP DRI Al A6 & [ a1 bt sreferazen, 9fr,
s1qol 302 #Afieil Bl siiferes ulveiuferil & gsme, aga Aslt & rer Jyaen uz smenfyd aidl o 28 3 iy wsa d 50 adf gd A ufkiufern asar @ iR ol &t aer sl @1
73% 2t et ad 2002 @ A6 MU dc B2 PPl 53 yfror 81 srn 3iiz 3l off e Brac sl 3 51 s1ef 3 b Scurcel @1 Yrafite oRe AR et 3 St wataifel &t
oIftp B a1 3 31T 3R 3o AR Soit i wafaii¥il & 9fdrd aiiz Bioret ¥R 3 oft eI 3EI® gorml & Aaa gfy s 3 sl caftp 3ra VA Jorodl 3 DRI B A JAgse
o181 3 Sit 368 mmeficrdt sfi? et @1 srar? oidl Sar 3

S e =t Fsto0r @t gferfder 8 €@ efior acel @ e Fsiez 6l s off, uruf¥e AT 3R Foriqur & =Mazemd sl awe A BRI B2 W it ueq orcsll ®1 waafRl B
Tt o1 DI crer o1& firerar e ST Awerar Asfl watanf¥l & difge grerar uz foriz il 3 sl ordrsil Bl $3 BOR Fbld BT AHGI D6 & ; AU SHARAL 3R H9floll BT
Farfdrea 81 ADd 3; IAToll D oldl

The example of declining assets (land, building, and machine) is given to
grRIATel ufRAuferil (31f31,s1acr afiz AAofter) @1 IcerRuI forFaferRaa 3 3 fRpard fore fo=m san 3 ¢

[Question ID = 2823][Question Description = S2_qSNz_PG_GP40_Q48]
1. Emphasize the role of employee knowledge and skills/asfanfsii & sirel 3iiz Bloret 6t 91fdrpT W2 Tel Solt

[Option ID = 11289]
2. Indicate command-and-control of leaders/aidsil @ @S9 a orRicUI BT AdA DIl

[Option ID = 11290]
3. Suggest rising costs of assets/ufyiuferil &t gadl e @1 Jsma o

[Option ID = 11291]
4. Highlight organizational hierarchy/3issfers guiiae at Ixifdba woen

[Option ID = 11292]

4) Read the given passage and answer the following question.

Leaders in powerful positions once thought workers should be told what to do and how to do it. They believed strict control
was needed for the organization to function efficiently and effectively fixed organizational hierarchies, structured jobs and
work processes and detailed procedures, let everyone know that those at the top had power and those at the bottom had
none.

Today, the old views of the distribution of power are no longer valid. An emphasis on control serves to squelch motivation, innovation and morale, rather
than produce desired results. Today’s leaders share power rather than hoard it. They find ways to increase an organization’s brain power by getting
everyone involved and committed.

ofiad fou arerior @1 ufew iz Yoot oI 3492 3 :

orfeporrell U<l Uz I3 ol T FIRI ATl Dl A o DRIl Dl Ae JarN Siel a3 6 d aRI @3 3R DA B ot faart o b foeft
JHoT601 DI Gl 3R YHI! Gl A dciiol B fere wsI orRIquT 15 3 foifkia isrefore vl ad, JRM BrRI-HR 3iik ®rI giigae sii firqga
UgierIl 8¥%0 ol adl Sl off fib Hu= d3 divll & urd ared & 3R ofid drcl @ uRI @ ol oiél 3

orftp fararur & A gzret efieapIvr airer d¢1 o1dl 28 sl 3 foriqUT Uz Sk ot 2 qifsa ufvvrmr foraerel &t asme Yzum, sra ufvador siiv Fellact e SIIAT & 311ST @ oldr 9Iftp STaT
Dol DI TSIT IA AT B 3 d YRAD RAfep DI onfdret 3R Yferag @1 w2 Ho1oal @ difg® dcl DI d6T0l D SURI G 8 $ADI T PRYI dl A & b arrer &t sreferazen, 9,
s1arol 3R FAftell 61 sitfer ufiuferil & ey, aga dsit @ arer Jaen U smenfya axfl s & 3 iy Iwsa A 50 ad gd A ufeiuftri deo1 @ Siz-frdkr formil &b o snf¥aril @1
73% 2xclt et adf 2002 & A6 I dc B2 cPREI 53 yferor 81 sri 3iiz 3l off e Brac sl 3 s s1ef 3 b Scurcal @1 Yrafite oRe ATerdRI it 3 Sl wataifel &t
oIfep @l ddr & 3ERIDI 3ii? 3w frf3ra Soli 3t wefanfy=il @ ifdrd 3k wierar ¥ar ¥ off fpTa st gorml 3 Aaa giy g€ 3 sIa <aftb 31 ¥ Horool 3 DRI wol A Idgee
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SId @ el Jis1o01 @1 yfeafeet 8 #e arofier acral @ fére JrsIgz bl srsee off, urul¥® IS 9r 3iiv oRIqUI bl RMazeI el avs A BRI B2 Wl ofl ueq FHersell @I Daaf¥il &
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What is the theme of this passage?
S SIEN9I BT DA TAT 3 ?

[Question ID = 2824][Question Description = S2_qSNz_PG_GP40_Q49]
1. Shift from employee empowerment to control/essfart eiepasur 3 foriqur & 3 3T

[Option ID = 11293]
2. Diminishing value of assets/uf33uferil @1 gRIEmwGT FHe=T

[Option ID = 11294]
3. How to get things done from workers/sfanfsii 31 S BRI BRI ST

[Option ID = 11295]
4. Employee empowerment leads to improvement in production/@w#art Jeifepdm2ur 3 3cuicel i PR aldr 3

[Option ID = 11296]

5) Read the given passage and answer the following question.



Leaders in powerful positions once thought workers should be told what to do and how to do it. They believed strict control
was needed for the organization to function efficiently and effectively fixed organizational hierarchies, structured jobs and
work processes and detailed procedures, let everyone know that those at the top had power and those at the bottom had
none.

Today, the old views of the distribution of power are no longer valid. An emphasis on control serves to squelch motivation, innovation and morale, rather
than produce desired results. Today’s leaders share power rather than hoard it. They find ways to increase an organization’s brain power by getting

everyone involved and committed.
ofia f3u srerior @1 ufew iz yest o1 3492 3 -
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S s et Fstoar @t gferfder 8 €e 1efior acmer @ fore FsIg Y s off, uruf¥e AT 3iiz Foriqur & RMazems et aws A BRI B2 W it ueq orssll B waafRl &
feareT 1 DI et o1l frerar e 3irs1 Awerar Asfl watanf¥=l & difge grerar uz forsfz @il 3 3l ordnsil B $3 BOR Fbld BT ATHG D6 & ; AU SARAL 3R H9foll BT
Farfdrca 3 ADA 3; $AToll D ofdl

"Today's leaders share power rather than hoard it", means
"'3MTST @ oIl AT DI SIHI Dol DI Tl IA AT DI &, DI 34 3 ¢

[Question ID = 2825][Question Description = S2_qSNz_PG_GP40_Q50]
1. Leaders work towards centralization of power /oI 9iftb @ @ogia2ul &I 3R DR Bt &

[Option ID = 11297]
2. Leaders always discourage employee initiatives/alar adon weaif¥=ii &t user @l Brecafaa o &

[Option ID = 11298]
3. Leaders distribute resonsibilities among workers/aiar dwsfaifyii @ dta sazeiRicdl a1 fdar o &

[Option ID = 11299]
4. Leaders prioritize production over worker satisfaction/aidr wafart-3iqftc & Scurcel @t d¥krar 3d &

[Option ID = 11300]






